
Q1) A) Fill in the blank (Any five) : [5]
i) A legally implementation agreement is called a ________.

(contract, agreement, offer)
ii) Written agreement of partnership is called as _________.

(document, agreement, deed)
iii) There must be at least ________ parties to the cantract of Sale of

Goods.
(One, Two, Three)

iv) Sale of Goods Act 1930 applies to _______ Goods.
(immovable, movable, public)

v) The arbitration agreement must be in the form of ________.
(written, oral, written and oral)

vi) Arbitration and Conciliation Act was passed in India in _______.
(1995, 1996, 1997)

B) Match the following : [5]
Group - A Group - B

i) The price of a promise a) Present object
ii) Free consent b) Consideration
iii) Limited Liability partnership c) Section 14

2008
iv) Goods present at the time d) Domestic Court

of sale
v) Arbitration e) At least two partners
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Q2) What do you mean by consideration? Explain the legal rules as to consideration.
[15]

Q3) Explain the difference between limited liability partnership and partnership
firm. [15]

Q4) Define the term unpaid seller. Explain the special rights of Unpaid seller. [15]

Q5) What is an arbitrator? Explain the powers and duties of an arbitrator. [15]

Q6) Write short notes (Any Three) : [15]

a) Capacities of parties

b) Types of partners

c) Agreement of Sale

d) Conciliation process

e) Transfer of ownership


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) … [5]
i) H$m`ÚmZo A§_b~OmdUr H$aVm òUmè`m R>amdmg ............. Ago åhUVmV.

(H$ama, R>amd, àñVmd)
ii) ^mJrXmarÀ`m boIr H$amambm ^mJrXmar ............. åhUVmV.

(XñV, R>amd, H$amaZm_m)
iii) _mb{dH«$sÀ`m H$amamV {H$_mZ .............. nj AgboM nm{hOoV.

(EH$, XmoZ, VrZ)
iv) _mb {dH«$s H$m`Xm 1930 .............. dñVw§Zm bmJw hmoVmo.

(AMb, Mb, gmd©O{ZH$)
v) _Ü`ñWr H$ama hm ................ ñdénmV AgUo Amdí`H$ Amho.

(boIr, Vm|S>r, boIr qH$dm Vm|S>r)
vi) ^maVmV ............. gmbr _Ü`ñWr d gbmoIm H$m`Xm nmg H$aÊ`mV Ambm.

(1995, 1996, 1997)
~) `mo½` OmoS>çm bmdm … [5]

A JQ> ~ JQ>
i) dMZmMr qH$_V A) dV©_mZ dñVw
ii) _wº$ g§_Vr ~) à{V\$b
iii) _`m©{XV O~m~Xmar ^mJrXmar 2008 H$) H$b_ 14
iv) {dH«$sÀ`m doir dñVw ApñVËdmV S>) KaJwVr Ý`m`mb`
v) _Ü`ñWr B©) {H$_mZ XmoZ ^mJrXma

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) à{V\$b åhUOo H$m`? à{V\$bm g§~§Yr H$m`Xoera VaVwXr ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) _`m©{XV O~m~Xmar ^mJrXmar Am{U ^mJrXmar g§ñWm `mVrb \$aH$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) AXÎm {dH«o$Vm åhUOo H$m`? AXÎm {dH«o$Ë`mMo {deof hŠH$ ñnîQ> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) bdmX åhUOo H$m` ho gm§JwZ bdmXmMo A{YH$ma Am{U H$V©ì ò ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) … [15]

A) H$ama H$aUmè`m ì`º$s¨Mr nmÌVm

~) ^mJrXmam§Mo àH$ma

H$) _mb{dH«$sMm R>amd

S>) gbmoIm / g_PmoVm H$m ©̀nÕVr

B) _mbH$s hŠH$m§Mo hñVm§VaU


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Q1) A) Fill in the blanks (Any Five) [5]

a) IFRS stands for __________.

i) Indian Financial Recording Standards

ii) International Financial Reporting Standards

iii) International Funded Reporting Standards

iv) International Financial Recording Standards

b) Any balance left out in capital reduction account will be transferred
to ________ Account.

i) Capital Reduction ii) Capital Reserve

iii) Profit & Loss iv) Share Capital

c) When assets ceases generating income from it, bank treats the asset
as ________.

i) Banking Assets ii) Banking Reserve

iii) Non-performing Assets iv) Share Capital A/c

d) Under the ________ method of valuation of closing investment, it
is assumed that the investments purchased first are sold first.

i) Average Method ii) Market price

iii) LIFO iv) FIFO

e) Interest and brokerage are to be calculated on the ________ of
investments.

i) Face Value ii) Market Value

iii) Average Value iv) Weighted Average Value

P.T.O.P.T.O.
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f) Which section of the Banking Regulation Act, provides for
preparation of the Bank’s final account in prescribed form?
i) Section 29 ii) Section 30
iii) Section 28 iv) Section 25

g) ________ refers to the converting shares of smaller denomination
into shares of larger denominations.
i) Consolidation of Shares ii) Sub-division of Shares
iii) Cancellation of Shares iv) Surrender of Shares

B) True or False (Any Five). [5]
a) The objective of Accounting Standards is to harmonize different

management policies.
b) In Ex-interest transactions, the value of interest is deducted from

the Cost Price of investment.
c) Banking Companies in India are governed by Banking Regulation

Act, 1949.
d) Acceptances, Endorsements and other obligations are recorded in

Schedule 12 of bank final account.
e) Investment is treated as real account even though they are not

physical assets.
f) When Equity share capital is reduced, Capital Reduction Account

is debited.
g) Accounting Standards in India are issued by the International

Accounting Standard Board.

C) Match the following. [5]
‘A’ Group ‘B’ Group

a) Capital Reduction Account i) Interest only recorded not
deducted

b) Ex-Interest ii) 1949
c) Bonus Shares iii) Equity Share holders
d) Banking Regulation Act iv) Other Assets
e) Stock of Stamps v) Internal Reconstruction

D) Short Notes (Any Three) [15]
a) Types of Restructuring
b) NPA & its provisions
c) Types of Leases
d) Difference between Cum Interest and Ex-Interest
e) Cashflow from Operating, Investing & Financing Activities
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Q2) The following is the Balance Sheet of Om Ltd., Malad, as on 31st March
2023. [20]

Balance Sheet as on 31st March, 2023

Liabilities Amount in Assets Amount in

A A

Share Capital : Good will 60,000

Issued and Subscribed Capital : - Buildings 1,50,000

a) 4,000 Equity Shares of A100 Machinery 3,00,000

each, fully paid 4,00,000 Patents 30,000

b) 3,000, 7% Preference Shares of Stock 2,20,000

A 100 each, fully paid 3,00,000 Debtors 1,50,000

Profits Prior to Incorporation 10,000 Cash 5,000

6%Debentures 3,00,000 Preliminary Expenses 25,000

Sundary Creditors 2,00,000 Profit and Loss 2,70,000

Total 12,10,000 Total 12,10,000

The following scheme of reconstruction was duly approved by the court.

a) 7% Preference Shares to be converted into 9% Preference Shares, the
amount being reduced by 30%.

b) Equity Shares to be reduced to fully paid shares of A 50 each.

c) Buildings to be appreciated by 20%.

d) Debentures to be reduced by 20%.

e) All intangible assets and fictitious amounts including Patents be written
off.

f) Utilize, profits prior to incorporation, if necessary.

Pass journal entries to record the above scheme of reconstruction in the books
of Om Ltd., Malad and Prepare a Capital Reduction A/c and revised Balance
Sheet as on 31st March, 2023.
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Q3) Following is the Trial Balance of AK Bank Ltd., Goa as on 31st March, 2023.

Prepare Profit and Loss Accounts and Balance Sheet as on that date, as per
the Banking Regulation Act, 1949. [20]

Trial Balance as on 31-3-2023

Particulars Debit A Particulars Credit A

Loans, cash Credits & 12,00,000 Equity Share Capital of

Overdrafts A 100 each A 50 paid up 6,00,000

Bills Discounted and

Purchased 5,60,000 Profit & Loss Account
as on 01-04-2022 1,60,000

Director’s Fees 18,000 Current Deposit Account 13,70,000

Audit Fees 4,000 Fixed Deposit Account 15,50,000

Furniture (Cost A 4,00,000) 3,48,000 Savings Bank Account 10,80,000

Printing and Stationery 16,000 Interest and Discount
received 8,40,000

Rent and Taxes 34,000 Commission and Exchange 4,00,000

Salary 2,80,000 Reserve Fund 1,40,000

Buildings (Cost A10,00,000) 9,00,000 Borrowing from
Krishna Bank 7,50,000

Law Charges 6,000 Branch Adjustment 5,10,000
Account

Cash in Hand 78,000

Cash with RBI 15,10,000

Cash with other Banks 13,06,000

Investment at Cost 5,40,000

Interest Paid 6,00,000

Total 74,00,000 Total 74,00,000

Following additional information is available

a) Rebate on bills discounted amounted to A 22,000.

b) Provide depreciation on Buildings @ 12% on cost.

c) Provide depreciation on Furniture @ 5% on cost.

d) Provide A 6,000 for Bad and Doubtfull Debts.

e) Transfer 25% of the current year’s profit to Statutory Reserve.
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Q4) From the following particulars of M/s Sahani Ltd., Juhu [20]

Write up 6% Government Bonds Account for the year ending on
31st December 2023.

Opening balance as on 1.1.2023 - Face Value A 75,000 - Cost A 73,750.

Purchases

1.3.2023 - Purchased bonds worth A 15,000 cum - interest at A 98.

1.10.2023 - Purchased bonds worth A 10,000 ex-interest at A 98.

Sales

1.7.2023 - Sold bonds worth A 30,000, ex-interest at A100.

1.11.2023 - Sold bonds worth A 20,000, cum - interest at A 97.

Interest dates are 30th September and 31st March.

M/s Sahani Ltd., Juhu closes their books of accounts on 31st December every
year. Show Investment Account.


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Q1) A) Multiple choice questions. (Any Five) [5]
i) India’s new industrial policy was announced in _____

a) 2007 b) 2001
c) 1991 d) 2009

ii) Economic items that are not in a storable form are called ____
a) Geffen’s Items b) Industrial Items
c) Cheap Items d) Services

iii) The countries undergoing the first stage of economic development
are ____ countries
a) Developed b) Primary
c) Poor d) Developing

iv) _____ is required to improve the productivity of Indian agriculture.
a) Use of hybrid seeds b) Modern Technology
c) Use of Fertilizers d) All of above

v) Indian economy is currently known globally as _____.
a) Developed b) Modern
c) Low Developed d) Emerging Economy

vi) In the early days, Indian agriculture was mostly supplied with credit
from _____
a)  Institutional Sources b) Government
c) Private Banks d) Lenders

P.T.O.
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B) Match the Pairs. [5]
A B

i) Developing Country a) Undeveloped Agriculture
Marketing

ii) Developed Country b) Government Interference
iii) Indian Agriculture c) India
iv) Public Sector d) High Contribution in National

Income of India
v) Indian Service Sector e) America

Q2) What is mean by Industrialization? Explain role of Industrialization in economic
development of India. [15]

Q3) Define service sector. Explain role of service sector in India. [15]

Q4) What is mean by emerging economy? Explain in detail characteristics of Indian
economy as an emerging economy. [15]

Q5) Explain in detail sources of agricultural finance in India. [15]

Q6) Write short notes on. (Any Three) [15]

a) Role of Private sector in Infrastructural Development.

b) Digital Economy.

c) Indicators of Economic Development.

d) Contract Farming.

e) Make in India.


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$.1 Am{U 6 gº$sMo AmhoV.

2) àíZ H«$‘§mH$ 2 Vo 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) ~hþn¶m©¶r àíZ. (H$moUVohr nmM) [5]
i) ^maVmMo ZdrZ Am¡Úmo{JH$ YmoaU .......... ‘Ü¶o Omhra Pmbo.

A) 2007 ~) 2001
H$) 1991 S>) 2009

ii) Á¶m Am{W©H$ dñVy gmR>{dÊ¶mg ¶mo½¶ ñdê$nmV ZgVmV Ë¶§mZm .......... åhUVmV.
A) {ZH¥$ï> dñVy ~) Am¡Úmo{JH$ dñVy
H$) ñdñV dñVy S>) godm

iii) Am{W©H$ {dH$mgmÀ¶m n{hë¶m AdñWo‘YyZ OmUmao Xoe åhUOo ......... Xoe hmo¶.
A) {dH${gV ~) àmW{‘H$
H$) Jar~ S>) {dH$gZerb

iv) ^maVr¶ eoVrMr CËnmXH$Vm gwYmaÊ¶mgmR>r ......... Amdí¶H$ Amho.
A) g§H$arV {~¶mUm§Mm dmna ~) AmYw{ZH$ V§ÌkmZ
H) IVm§Mm dmna S>) darb gd©

v) OmJ{VH$ ñVamda gÜ¶m ^maVmMr AW©ì¶dñWm ........... åhUyZ AmoiIbr OmVo.
A) {dH${gV ~) AmYw{ZH$
H$) {ZåZ {dH${gV S>) ZdrZ CX¶mg ¶oUmar

vi) gwê$dmVrÀ¶m H$mimV ^maVr¶ eoVrbm .......... H$Sy>Z gdm©V OmñV H$O© nwadR>m Ho$bm OmV
Ago.
A) g§ñWmË‘H$ KQ>H$ ~) gaH$ma
H$) ImgJr ~±H$m S>) gmdH$ma

PC1038
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~) OmoS>çm bmdm. [5]
A ~

i) {dH$gZerb Xoe A) A{dH${gV H¥$fr {dH«$s ì¶dñWm
ii) {dH${gV Xoe ~) gaH$mar hñVjon
iii) ^maVr¶ eoVr H ) ^maV
iv) gmd©O{ZH$ joÌ S>) amï´>r¶ CËnÞmV A{YH$ {hñgm
v) ^maVr¶ godm joÌ B) A‘o[aH$m

à.à.à.à.à.2) Am¡Úmo{JH$sH$aU åhUOo H$m¶? ^maVmÀ¶m Am{W©H$ {dH$mgm‘Yrb Am¡Úmo{JH$sH$aUmMr ŷ{‘H$m ñnï> H$am.
[15]

à.à.à.à.à.3) godm joÌmMr ì¶m»¶m H$am. ^maVmVrb godm joÌmMr ŷ{‘H$m ñnï> H$am. [15]

à.à.à.à.à.4) CX¶moÝ‘wI AW©ì¶dñWm åhUOo H$m¶? CX¶moÝ‘wI AW©ì¶dñWm åhUyZ ^maVr¶ AW©ì¶dñWoMr d¡{eîQ>ço
g{dñVa ñnï> H$am. [15]

à.à.à.à.à.5) ^maVmÀ¶m H¥$fr {dÎm nwadR>çmMo ómoV g{dñVa ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) nm¶m ŷV gw{dYm§À¶m {dH$mgmV ImgJr joÌmMr ŷ{‘H$m

~) {S>{OQ>b EH$m°Zm°‘r

H$) Am{W©H$ {dH$mgmMo {ZX}eH$

S>) H$ama eoVr

B) ‘oH$ BZ B§{S>¶m


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Q1) A) Multiple Choice Questions. (any five). [5]
i) ______ of the following is international trade

a) Trade between countries b) Trade between Regions
c) Trade between provins d) Both (b) & (c)

ii) Leontif paradox is on Empirical Testing of _______ theory.
a) Absolute cost advantage
b) Hecksher Ohlin
c) Comparative cost advantage
d) None of the above

iii) Camparative cost advantage theory is given by _______
a) David Recardo b) Adam Smith
c) J.M. Keynes d) Heckscher Ohlin

iv) ______ is not a form of Tariff
a) Protective b) Revenue
c) Consumption d) None of the above

v) _________ is not a trade barrier.
a) Subsidies b) Embargo
c) Export security d) Tarrif Barrier

vi) _______ Explained the gross barter terms of trade
a) Jacob Viner b) F.W. Tausing
c) W.Singer d) Dorrance

P.T.O.
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B) Match the pairs [5]

A B

i) Comparative cost advantages a) Trade between countries

ii) International Trade b) Tausing

iii) Factor endowment theory c) David Ricardo

iv) Net Barter terms of trade d) Tradde between two states.

v) Inter Regional Trade e) Hecksher ohline

Q2) Explain the scope and importance of international economics.  [15]

Q3) Explain  comparative cost advantage theory. [15]

Q4) Explain the arguments infovour of and against free trade policy.  [15]

Q5) Explain the factors affecting terms of trade.  [15]

Q6) Write short notes (any 3)  [15]

a) Leontif paradox

b) Dumping

c) Tools of protection

d) Production life cycle theory

e) Inter regional trade


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Total No. of Questions : 6]

[6315]-304
T.Y.B.Com.

BUSINESS ECONOMICS
353B : International Economics - I

(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.

2) àíZ H«$. 2, 3, 4 Am{U àíZ H«$. 5 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.
4) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) ~hþn¶m©¶r àíZ (H$moUË¶mhr nmM) [5]
i) Imbrbn¡H$s ............. hm Am§Vaamï´>r¶ ì¶mnma Amho.

A) {d{dY Xoem§‘Yrb ì¶mnma ~) Xoem§VJ©V ì¶mnma
H$) àmVm§‘Yrb ì¶mnma S>) ~ Am{U H$ XmoÝhr

ii) {bAm§ÝQ>r’$Mm {damoYm^mg ................ ¶m {gÕm§VmMr AZŵ dOÝ¶ MmMUr Amho.
A) {Zanoj IM© bm^ {gÕm§V ~) ho³íMa AmohbrZ {gÕm§V
H$) VwbZmË‘H$ IM© {gÕm§V S>) ¶mn¡H$s Zmhr

iii) VwbZmË‘H$ IM© bm^ {gÕm§V ............... ¶m§Zr ‘m§S>bm.
A) S>opìhS> [aH$mS>m} ~) A°S>‘ pñ‘W
H$) Oo.E‘.Ho$Ýg S>) ho³íMa AmohbrZ

iv) ............. hm OH$mVrMm àH$ma Zmhr.
A) g§ajrV ~) ‘hgwbr
H$) Cn^mo½¶ S>) ¶mn¡H$s Zmhr

v) ............. hm ì¶mnmar AS>Wim Zmhr.
A) AZwXmZo ~) {Z~ªY
H$) {Z¶m©V gwajm S>) Xa AS>Wio

vi) ñWwb dñVwê$n ì¶mnma eVr© ............... ¶m§Zr ‘m§S>ë¶m.
A) OoH$~ dm¶Za ~) E’$. S>ãë¶w. Q>mD$qgJ
H$) S>ãë¶w. qgJa S>) S>m°aoÝg

PC1039
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~) Imbrb OmoS>çm Owidm. [5]

"A' JQ> "~' JQ>

i) VwbZmË‘H$ IM© bm^ A) Xoem§‘Yrb ì¶mnma

ii) Am§Vaamï´>r¶ ì¶mnma ~) Q>mD$qgJ

iii) KQ>H$ XoUJr {gÕm§V H$) S>opìhS> [aH$mS>m}

iv) {Zìdi ì¶mnma eVu S>) XmoZ amÁ¶m§‘Yrb ì¶mnma

v) Am§Va àmXo{eH$ ì¶mnma B) ho³íMa AmohbrZ

à.à.à.à.à.2) Am§Vaamï´>r¶ AW©emñÌmMr ì¶már Am{U ‘hÎd ñnï> H$am. [15]

à.à.à.à.à.3) VwbZmË‘H$ IM© bm^ {gÕm§V ñnï> H$am. [15]

à.à.à.à.à.4) ‘wº$ ì¶mnmamÀ¶m g‘W©ZmW© Am{U {damoYr ¶w{º$dmX ñnï> H$am. [15]

à.à.à.à.à.5) ì¶mnma eVvda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) {bAm°ÝQ>r’$ {damoYm^mg

~) Adnw§OZ

H$) ì¶mnma g§ajZmMr gmYZo

S>) CËnmXZ OrdZMH«$ {gÕm§V

B) Am§Va àmXo{eH$ ì¶mnma


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Q1) A) Fill in the blank with the most appropriate alternative (any five) [5]
i) ______ is a kind of audit which is conducted between two annual

completed or final audit.
(Final Audit, Interim Audit, Cost Audit)

ii) Under section ______ of the companies act, the central Government
has power to direct special audit.
(231A, 232A, 233A)

iii) ______ is the process of inspecting a document that supports a
recorded transaction in order to verify the authority of such a
transaction
(Vouching, Verification, Valuation)

iv) _______ implies critical examination and evaluation of the valuation
of assets and liabilities as per generally accepted accounting
principles.
(Vouching, Verification, Valuation)

v) A person who, under section _____ of the companies Act 1956 is
entitled to be appointed as an auditor of a company
(222(2), 224(2), 226(2))

vi) Deduction under section ______ is allowed to any assessee who
derives profits and gains from an eligible business.
(70-IA, 80-IA, 90-IA)

vii) _____ devices are the devices that transfer data program into the
computers processing system.
(Input, Output, Storage)

P.T.O.
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B) True or False. [5]

i) The word ‘Audit’ is derived from the Latin word ‘Audire’ which
means ‘to hear’.

ii) Voucher is a document on the basis of which the transaction is
recorded and entry is passed in the books of accounts.

iii) In order to be appointed as an auditor a person must be a chartered
accountant within the meaning of the chartered accountants act. 1959.

iv) Section 88 AB of the income tax act provides for compulsory audit
of accounts of certain person.

v) A set of computer programs designed to carry out a particular task
is known as ‘Hardware’.

Q2) Write a short notes (any two). [10]

a) Essentials of Good Internal check

b) Objectives of verification of assets.

c) Removal of an auditor

d) Types of EDP (Electronic data processing) accounting system.

Q3) Answer the following (any two). [30]

a) Define ‘Audit programme’. State the advantages and disadvantages of
audit programme.

b) Define ‘Audit report’. Explain the important contents.

c) Explain the rights and duties of company auditors.

d) Explain the role of Auditor in computerised accounting system.





3[6315]-305

Total No. of Questions : 3]

[6315]-305
T.Y. B.Com.

354 : AUDITING & TAXATION - I
(2019 CBCS Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ............ ho EH$ àH$maMo A§Ho$jU Amho Oo XmoZ dm{f©H$ g§nyU© qH$dm A§{V‘ A§Ho$jUm

Xaå¶mZ Ho$bo OmVo.

(A§{V‘ A§Ho$jU, ‘Ü¶mdYr A§Ho$jU, n[aì¶¶ A§Ho$jU)

ii) H§$nZr H$m¶XçmÀ¶m H$b‘ .......... AÝd¶o H|$Ð gaH$mabm {deof boImn[ajUmMo {ZX}e
XoÊ¶mMm A{YH$ma Amho.

(231A, 232A, 233A)
iii) ì¶dhmamMo A{YH$ma gË¶m{nV H$aÊ¶mgmR>r Zm|X Ho$boë¶m ì¶dhmamg g‘W©Z XoUmè¶m

XñVEodOmMr VnmgUr H$aÊ¶mMr ................ à{H«$¶m Amho.

(à‘mUZ, gË¶mnZ, ‘wë¶m§H$Z)

iv) ............... åhUOo gm‘mÝ¶V: ñdrH$maë¶m Joboë¶m boIm VËdmZwgma ‘mb‘Îmm Am{U
Xm{¶Ëdm§À¶m ‘wë¶m§H$ZmMr J§̂ ra narjm d ‘wë¶m§H$Z hmo¶.

(à‘mUZ, gË¶mnZ, ‘wë¶m§H$Z)

v) EImXr ì¶º$s, Or H§$nZr H$m¶Xm 1956 À¶m H$b‘ ............ AÝd¶o H§$nZrMm A§Ho$jH$
åhUwZ {Z¶wº$ hmoÊ¶mMm A{YH$ma Amho.

(222(2), 224(2), 226(2))
vi) ............... H$b‘mÝd¶o dOmdQ> hr nmÌ ì¶dgm¶mVyZ Z’$m Am{U Z’$m {‘idUmè¶m

H$moUË¶mhr ‘wë¶m§H$Z H$Ë¶m©bm nadmZJr Amho.

(70-IA, 80-IA, 90-IA)
vii) ............. CnH$aUo hr Aer CnH$aUo AmhoV Or g§JUH$ àH«$s¶m àUmbr‘Ü¶o ‘m{hVr

à{H«$¶m hñVm§VarV H$aVmV.

(‘m{hVr nwa{dUmar gmYZo, ‘m{hVr Xe©{dUmar gmYZo, ‘m{hVr gmR>dUwH$sMr gmYZo)

PC1040
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~) MwH$ H$s ~amo~a. [5]

i) Am°{S>Q>, A§Ho$jU ¶m eãXmMr CÎmnÎmr b°{Q>Z eãX Am°S>m¶a nmgyZ Pmbobr Amho Á¶mMm AW©
EoH$Uo Agm Amho.

ii) à‘mUH$ ho EH$ XñVEodO Amho Á¶mÀ¶m AmYmamda ì¶dhmamMr Zm|X Ho$br OmVo Am{U
ImË¶mÀ¶m nwñVH$m§‘Ü¶o Zm|X Ho$br OmVo.

iii) boImnarjH$ åhUyZ {Z¶wº$ hmoÊ¶mgmR>r EImXr ì¶º$s MmQ>©S>© AH$mC§Q>§Q> H$m¶Xm 1959 À¶m
AWm©Zwgma gZXr boImnmb AgUo Amdí¶H$ Amho.

iv) Am¶H$a H$m¶X¶mÀ¶m H$b‘ 88AB AÝd¶o {d{eï> ì¶º$sÀ¶m ImË¶m§Mo A{Zdm¶© A§Ho$jU
H$aÊ¶mMr VaVwX Amho.

v) {d{eï> H$m¶© nma nmS>Ê¶mgmR>r AmamIS>m Ho$boë¶m g§JUH$ à{H«$¶m g§M hmS>©doAa åhUyZ
AmoiIbm OmVmo.

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Mm§Jë¶m A§VJ©V VnmgUrgmR>r Amdí¶H$ Jmoï>r.

~) ‘mb‘ÎmoÀ¶m gË¶mnZmMr d¡{eï>ço.

H$) A§Ho$jH$mMr nXÀ¶wVr.

S>) BS>rnr ({dXçwVr¶ ‘m{hVr (AmH$S>odmar) à{H«$¶m) A§Ho$jU nÕVrMo àH$ma.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao X²¶m. (H$moUVohr XmoZ) [30]

A) A§Ho$jU H$m¶©H«$‘ hr g§km ñnï> H$am. A§Ho$jU H$m¶©H«$‘mMo ’$m¶Xo Am{U VmoQ>o ñnîQ> H$am.

~) A§Ho$jU Ahdmb hr g§H$ënZm ñnï> H$am. A§Ho$jU AhdmbmVrb ‘OHy$a ñnï> H$am.

H$) H§$nZr A§Ho$jH$mMo A{YH$ma Am{U H$V©ì¶o ñnï> H$am.

S>) g§JUH$ A§Ho$jU nÕVrVrb A§Ho$jH$mMr ŷ{‘H$m ñnï> H$am.





Q1) A) Fill in the Blanks with most appropriate answer (Any 5) : [5 × 1 = 5]
i) ______ is a statement of human qualifications necessary to do a

Job.
a) Job Description
b) Job Analysis
c) Job Specification

ii) Kiazen is a: Japanese word meaning ________.
a) Continuous improvement
b) One time improvement
c) Sudden improvement

iii) _______ is not a function of Human Resource Management
a) Marketing and Sales
b) Recruitment and Selection
c) Training and Development

iv) _______ is application oriented
a) Training
b) Education
c) Job Learning

v) ________ is to identify the strengths and weakness of employees
to place right person at the right job.
a) Performance Appraisal
b) Feedback
c) Selection

Total No. of Questions : 4]

[Total No. of Pages : 4

[6315]-306
T.Y. B.Com.

355(a) : BUSINESS ADMINISTRATION - II
Human Resource Management

(2019 Pattern) (Special Paper - II) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-1041
SEAT No. :

P.T.O.



[6315]-306 2

vi) ______ is a interview conducted with a large group of candidates
a) Stress Interview
b) Group Interview
c) Depth Interview

B) Match the pairs : [5]

Group A Group B

i) Panel Interview a) Former Employee

ii) Interest Test b) Long Term Benefits

iii) Internal Source c) Planning, Organizing, Directing,
Controlling, Compensation etc.

iv) Career Development d) Screening by a group of
interviewers

v) Functions of Human Resource e) Likes and Dislikes of a

Management Candidate

Q2) Write short notes on (Any two) : [10]

a) Job Description

b) Types of Interviews

c) Steps in Human Resource Planning

d) Limitations of Performance Appraisal

Q3) a) Discuss about Ethical Performance Appraisal. [8]

b) Explain the Importance of Training in detail. [7]

Q4) a) State the various functions of Human Resource Department in Modern
Business. [8]

b) Explain various sources of Recruitment. [7]


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1) gd© àíZ A{Zdm ©̀ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC-1041

àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) ........... ho ZmoH$ar H$aÊ`mgmR>r Amdí`H$ Agboë`m _mZdr nmÌVoMo {dYmZ Amho.

A) H$m ©̀ {ddaU
~) H$m ©̀ {díbofU
H$) H$m ©̀ Vnerb

ii) H$m`PZ `m OnmZr eãXmMm AW© ........ hm Amho.
A) gVV gwYmaUm
~) EH$ doi gwYmaUm
H$) AMmZH$ gwYmaUm

iii) ............... ho _mZd g§gmYZ ì`dñWmnZmMo H$m ©̀ Zmhr.
A) {dnUZ Am{U {dH«$s
~) ^aVr Am{U {ZdS>
H$) à{ejU Am{U {dH$mg

iv) ........... AZwà`moJmZwgma Amho.
A) à{ejU
~) {ejU
H$) H$m_mda {eH$Uo

v) ........... åhUOo `mo½` ì`ŠVrbm `mo½` ZmoH$arda R>odÊ`mgmR>r H$_©Mmè`m§Mr VmH$X
Am{U H$_Hw$dVnUm AmoiIUo.
A) H$m_{Jar _yë`m§H$Z
~) A{^àm`
H$) {ZdS>

3 P.T.O.
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vi) ........... hr C_oXdmam§À`m _moR>çm JQ>mMr _wbmIV AgVo.

A) VUmdnyU© _wbmIV

~) JQ> _wbmIV

H$) gImob _wbmIV

~) OmoS>çm bmdm. [5]
JQ>  A JQ> ~

i) n°Zb _wbmIV A) _mOr H$_©Mmar

ii) ñdmañ` MmMUr ~) XrK©H$mbrZ bm^

iii) A§VJ©V òmoV H$) {Z`moOZ, g§KQ>Z, {ZX}eZ, {Z §̀ÌU,
ZwH$gmZ ^anmB© B.

iv) H$maH$sX© {dH$mg S>) _wbmIVH$mam§À`m JQ>mÛmao ñH«$sqZJ

v) _mZd g§gmYZ ì`dñWmnZmMr H$m }̀ B©) C_oXdmamÀ`m AmdS>r-{ZdS>r

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) [10]
A) H$m ©̀ {ddaU

~) _wbmIVrMo àH$ma

H$) _mZd g§gmYZ {Z`moOZmVrb Q>ßno

S>) H$m ©̀j_Vm _yë`_mnZmÀ`m _`m©Xm

àíZ àíZ àíZ àíZ àíZ 3) A) Z¡{VH$ H$m ©̀j_Vm _yë`m§H$Zm{df`r MMm© H$am. [8]
~) à{ejUmMo _hÎd g{dñVa ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) AmYw{ZH$ ì`dgm`mV _mZd g§gmYZ {d^mJmÀ`m {d{dY H$m`mªMr MMm© H$am. [8]
~) ^aVrMo {d{dY òmoV ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [5]
i) The organised financial system includes _________.

a) Commercial Banks b) Indigenous Banks
c) Foreign Banks d) None of the above

ii) The financial market for long term funds is known as ________.
a) Capital Market b) Money Market
c) Primary Market d) Secondary Market

iii) Maintaining a foreign currency account is helpful to _______.
a) Avoid transaction cost
b) Avoid exchang risk
c) Avoid both transaction cost and exchange risk
d) Avoid exchange risk and domestic currency depreciation

iv) Exchange rate are determined in _________.
a) Money market b) The foreign exchange market
c) The stock market d) The capital market

v) Money Market regulator is ________.
a) RBI b) IRDA
c) BSE d) NSE

vi) The price of one currency in terms of another is known as  _______.
a) Foreign Exchange Rate b) Trade Rate
c) Interest Rate d) Balance of Payment

Total No. of Questions : 4]

[Total No. of Pages : 4

[6315]-307
T.Y. B.Com.

355B : BANKING AND FINANCE (Special Paper - II)
Financial Market and Institutions in India - I

(2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-1042

SEAT No. :

P.T.O.



[6315]-307 2

B) Match the Pairs : [5]
Group - A Group - B

i) Financial Market a) Exports
ii) Unorganized Financial b) Capital Formation

System
iii) Money Market c) Commercial Paper
iv) Stock Exchange d) Money Lenders
v) Supply of foreign exchange e) Capital Market

Q2) Write a short note (afly two) : [10]
a) Indicators of Financial Development
b) Recent development in Indian money market
c) Deficiencies of Indian Capital Market
d) Participants in Foreign exchange market

Q3) a) Explain the Structure of Indian financial system. [8]

b) Explain the functions of Indian capital market. [7]

Q4) a) Explain credit Instruments used in Indian money Market. [8]

b) Explain the functions of foreign exchange market. [7]





[6315]-307 3

Total No. of Questions : 4]

[6315]-307
T.Y. B.Com.

355B : ~±H$ì`dgm` Am{U {ÎmnwadR>m (Special Paper - II)

^maVmVrb {dÎmr` ~mOma Am{U g§ñWm - I
(2019 Pattern) (Semester - V)

(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 50
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 5) [5]
i) g§K{Q>V {dÎmr` àUmbr_Ü ò ............. g_m{dï> Amho.

A) ì`mmnmar ~±H$m ~) ñdXoer ~±H$m
H$) naH$s` ~±H$m S>) darbn¡H$s Zmhr

ii) XrK©_wXVrÀ`m {ZYrgmR>r {dÎmr` ~mOma ............. åhUyZ AmoiIbm OmVmo.
A) ^m§S>db ~mOma ~) ZmUo~mOma
H$) àmW{_H$ ~mOma S>) darbn¡H$s Zmhr

iii) naH$s` MmbZ ImVo amIUo ............ gmR>r Cn ẁº$ Amho.
A) ì`dhma IM© Q>miUo
~) {d{Z_` OmoIr_ Q>miUo
H$) ì`dhma IM© Am{U {d{Z_` OmoIr_ XmoÝhmo Q>miUo
S>) {d{Z_` OmoIr_ Am{U Xoem§VJ©V MbZ Kgmam Q>miUo

iv) {d{Z_` Xa ............ _Ü ò {ZYm©[aV Ho$bo OmVmV.
A) ZmUo~mOma ~) naH$s` MbZ ~mOma
H$) eoAa ~mOma S>) ^m§S>db ~mOma

v) ZmUo~mOmamMo {Z`m§_H$ ............... Amho.
A) Ama ~r Am` ~) Am` Ama S>r E
H$) ~r Eg E S>) Eg Eg B

P.T.O.
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vi) EH$ MbZmMr Xþgè`m MbZmVrb qH$_V ............. åhUyZ AmoiIbr OmVo.
A) naH$s` {d{Z_` Xa ~) ì`mnma Xa
H$) ì`mO Xa S>) ì`dhmaVmob

~) OmoS>çm OwS>dm … [5]
A JQ> ~ JQ>

i) {dÎmr` ~mOma A) {Z`m©V
ii) Ag§K{Q>V {dÎmr` àUmbr ~) ^m§S>db {Z{_©Vr
iii) ZmUo~mOma H$) ì`mnma {dnÌ
iv) ñQ>m°H$ EŠñM|O S>) gmdH$ma
v) naH$s` MbZmMm nwadR>m B©) ^m§S>db ~mOma

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr 2) [10]

A) {dÎmr` {dH$mgmMo {ZX}eH$

~) ^maVr` ZmUo~mOmamVrb AbrH$S>rb {dH$mg

H$) ^maVr` ^m§S>db ~mOmamVrb CUrdm/Xmof

S>) naH$s` {d{Z_` ~mOmamVrb gh^mJr

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVr` {dÎmr` àUmbrMr aMZm ñnï> H$am. [8]

~) ^maVr` ^m§S>db ~mOmamMr H$m }̀ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVr` ZmUo~mOmamVrb nVgmYZo ñnï> H$am. [8]

~) naH$s` MbZ ~mOmamMr H$m }̀ ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five)
[5]

i) Which of the following is NOT considered an unfair labour practice?
a) Discrimination against workers based on gender
b) Denial of statutory benefits to workers
c) Refusal to bargain collectively with workers’ representatives
d) Implementing safety measures in the workplace

ii) Who is responsible for enforcing Labour Laws in India?
a) Ministry of Labour & Employment - Government of India
b) Employees Provident Fund Organization (EPFO)
c) Income Tax Department
d) Reserve Bank of India (RBI)

iii) What is the penalty for contravening the provisions of The Factories
Act, 1948?
a) Fine only b) Imprisonment only
c) Fine and/or imprisonment d) Warning letter

iv) What is the purpose of the approval process for factories under
The Factories Act, 1948?
a) To ensure maximum profits for factory owners
b) To assess the environmental impact of factories
c) To regulate the number of employees in factories
d) To ensure compliance with safety and health standards

v) What is the scope of the Employees State Insurance Act, 1948?
a) It covers only workers in organized sectors
b) It covers workers in both organized and unorganized sectors
c) It covers only government employees
d) It covers only workers in factories

Total No. of Questions : 4]
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vi) Under the Employees Provident Funds and Miscellaneous
Provisions Act, 1952, what are the schemes provided for employees?
a) Employees Taxation Scheme
b) Employees Pension Scheme
c) Employees Health Scheme
d) Employees Housing Scheme

B) Match the following : [5]
Column A           Column B

i) Labour Laws-Industrial a) Ensuring compliance with health,
Relations safety and welfare provisions

ii) Labour Laws-Wages b) Relations between employers,
employees and trade unions

iii) The Inspecting Staff c) ESI Scheme
iv) Medical care d) Retirement Benefits
v) Pension Scheme e) Bonus, equal remuneration for

men and women workers

Q2) Write a short note (any two) (150 words each) : [10]
a) Labour Policy of India
b) Duties of the occupier as per the Factories Act
c) Employees State Insurance Corporation
d) Employees Pension Scheme

Q3) Answer the following questions.
a) What is the historical background and evolution of labour laws in India?

[8]
b) What are the provisions of the Factories Act regarding the health of

factory workers? [7]

Q4) Answer the following questions.
a) What is the scope of the Employees State Insurance Act? [8]
b) Define the Employee Provident Fund Scheme with its features. [7]





Total No. of Questions : 4]
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àíZ àíZ àíZ àíZ àíZ 1) A) gdm©V ¶mo½¶ n¶m©¶mZo [a³V OmJm ^am. (H$moUVohr nmM) [5]
i) Imbrbn¡H$s H$moUVr AZw{MV H$m‘Jma n«Wm ‘mZbr OmV Zmhr?

A) qbJmda AmYm[aV H$m‘Jmam§{dê$Õ ôX^md
~) H$m‘Jmam§Zm d¡Ym{ZH$ bm^ ZmH$maUo
H$) H$m‘Jmam§À¶m à{V{ZYter EH${ÌVnUo gm¡Xo~mOr H$aÊ¶mg ZH$ma
S>) H$m‘mÀ¶m {R>H$mUr gwajm Cnm¶m§Mr A§‘b~OmdUr H$aUo

ii) ^maVmV H$m‘Jma H$m¶Xo bmJy H$aÊ¶mMr O~m~Xmar H$moUmMr Amho?
A) l‘ Am{U amoOJma ‘§Ìmb¶ - ^maV gaH$ma
~) H$‘©Mmar ^{dî¶ {Zdm©h {ZYr g§KQ>Zm (EPFO)
H$) Am¶H$a {d^mJ
S>) [aPìh© ~±H$ Am°’$ B§{S>¶m (RBI)

iii) H$maImZm A{Y{Z¶‘, 1948 À¶m VaVwXtMo Cëb§KZ Ho$ë¶m~Ôb H$m¶ {ejm Amho?
A) ’$³V X§S> ~) ’$³V V§wê$Jdmg
H$) X§S> Am{U/qH$dm Vw§ê$Jdmg S>) MoVmdUr nÌ

iv) H$maImZm A{Y{Z¶‘, 1948 A§VJ©V H$maImÝ¶m§Zm ‘§Owar à{H«$¶oMm CÔoe H$m¶ Amho?
A) H$maImZm ‘mbH$m§Zm OmñVrV OmñV Z’$m gw{Z{üV H$aUo
~) H$maImÝ¶m§À¶m n¶m©daUr¶ à^mdmMo ‘yë¶m§H$Z H$aUo
H$) H$maImÝ¶m§‘Yrb H$‘©Mmè¶m§À¶m g§»¶oMo {Z¶‘Z H$aUo
S>) gwajm Am{U Amamo½¶ ‘mZH$m§Mo nmbZ gw{Z{üV H$aUo

v) H$‘©Mmar amÁ¶ {d‘m H$m¶Xm, 1948 Mr ì¶már H$m¶ Amho?
A) ¶mV Ho$di g§K{Q>V joÌmVrb H$m‘Jmam§Mm g‘mdoe hmoVmo
~) ¶mV g§K{Q>V Am{U Ag§K{Q>V Aem XmoÝhr joÌmVrb H$m‘Jmam§Mm g‘mdoe hmoVmo
H$) ¶mV ’$³V gaH$mar H$‘©Mmè¶m§Mm g‘mdoe hmoVmo
S>) ¶m‘Ü¶o ’$³V H$maImÝ¶m§‘Yrb H$m‘Jmam§Mm g‘mdoe hmoVmo

3 P.T.O.
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vi) H$‘©Mmar ^{dî¶ {Zdm©h {ZYr Am{U {d{dY VaVwXr A{Y{Z¶‘, 1952 A§VJ©V
H$‘©Mmè¶m§gmR>r H$moUË¶m ¶moOZm AmhoV?
A) H$‘©Mmar H$a AmH$maUr ¶moOZm ~) H$‘©Mmar {Zd¥Îmr doVZ ¶moOZm
H$) H$‘©Mmar Amamo½¶ ¶moOZm S>) H$‘©Mmar J¥h{Z‘m©U ¶moOZm

~) ¶mo½¶ OmoS>çm Owidm. [5]

JQ> - A         JQ> - ~

i) H$m‘Jma H$m¶Xo-Am¡Úmo{JH$ g§~§Y A) Amamo½¶, gwajm Am{U H$ë¶mU
VaVwXtMo nmbZ gw{Z{üV H$aUo

ii) H$m‘Jma H$m¶Xo-‘Owar ~) {Z¶mo³Vo, H$‘©Mmar Am{U H$m‘Jma
g§KQ>Zm ¶m§À¶mVrb g§~§Y

iii) VnmgUr H$‘©Mmar H$) B©EgAm¶ ¶moOZm

iv) d¡ÚH$s¶ gw{dYm S>) godm{Zd¥ÎmrMo ’$m¶Xo

v) {Zd¥Îmr doVZ ¶moOZm B) ~moZg, nwê$f Am{U ‘{hbm
H$m‘Jmam§Zm g‘mZ ‘mo~Xbm

àíZ àíZ àíZ àíZ àíZ 2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) (àË¶oH$s 150 eãX) [10]

A) ^maVmMo H$m‘Jma YmoaU

~) H$maImZm A{Y{Z¶‘mZwgma Am°³¶wnm¶a Mr H$V©ì¶o

H$) H$‘©Mmar amÁ¶ {d‘m ‘hm‘§S>i

S>) H$‘©Mmar {Zd¥Îmr doVZ ¶moOZm

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao Úm.

A) ^maVmVrb H$m‘Jma H$m¶Úm§Mr Eo{Vhm{gH$ nmœ©̂ y‘r Am{U CËH«$m§Vr H$m¶ Amho? [8]

~) H$maImZm H$m‘Jmam§À¶m Amamo½¶m~m~V H$maImZm A{Y{Z¶‘mV H$m¶ VaVwXr AmhoV? [7]

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao Úm.

A) H$‘©Mmar amÁ¶ {d‘m H$m¶ÚmMr ì¶már H$m¶ Amho? [8]

~) H$‘©Mmar ^{dî¶ {Zdm©h {ZYr ¶moOZm Ë¶mÀ¶m d¡{eï>çm§gh n[a^m{fV H$am. [7]





Q1) A) Fill in the Blanks. (Any Five) [5]
i) The ______ Established in 1958 has been playing an important

role in the development of cooperative marketing in India.
a) National Agricultural Cooperative Marketing Federation
b) National Agricultural and Fisheries Marketing Federation
c) National Association of Fisheries Marketing

ii) Given from following ______ is one of the characteristics of Primary
Co operatives.
a) Owned and controlled by consumer members
b) Provide financial services to the public
c) Governed by elected representatives

iii) _______ is owned and controlled by Consumer member
a) Consumer Cooperatives b) Producer Cooperatives
c) Service Cooperatives

iv) _____ strategy involves setting prices based on competitor’s prices.
a) Competitive pricing b) Co-operative pricing
c) Cost plus pricing

v) Primary Societies are formed at ______ level.
a) District b) State
c) Village

vi) ______ of the following is a key advantage of e-marketing for
cooperatives.
a) Limited reach to a global audience

b) Reduced cost of Marketing Activities

c) Dependence on physical infrastructure
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B) Match the follwing : [5]
A B

i) Co-operative Marketing a) State Co-operative
Federation

ii) NAFED b) Dairy Co-operatives
iii) Wholesale Co-operative Stores c) 1958
iv) Operation Flood programme d) Price stability
v) State Co-operative Marketing e) Bulk Purchasing

Q2) Write short notes. (any two) : [10]
a) Recent Trends in Co-operative Marketing
b) District Co- operative Marketing Society
c) National Co-operative Consumer Federation
d) Cotton Processing Pricing Strategies

Q3) a) Define Marketing. Explain in detail the importance of Marketing. [8]
b) Define Co-operative Marketing. Explain the structure of Co-operative

Marketing [7]

Q4) a) What is Primary Co-operative Consumer Stores? Explain the importance
of Primary Cooperative Consumer Stores [8]

b) State the problems of Poultry Co-operative Society. [7]

♦♦♦
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gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nm°M) [5]
i) ^maVmV 1958 _Ü ò ñWmnZ Pmbobm ......... hm ghH$mar {dnUZmÀ`m {dH$mgmV

_hÎdmMr ŷ{_H$m ~OmdV Amho.

A) amï´>r` H¥$fr ghH$mar {dnUZ _hmg§K

~) amï´>r` H¥$fr Am{U _Ëñ`{dnUZ H$hmg§K

H$) amï´>r` _Ëñ` nmbZ {dnUZ g§KQ>Zm

ii) Imbr {Xboë`m n¡H$s ......... ho àmW{_H$ ghH$mar g§ñWm§Mo EH$ d¡{eï²>` Amho.

A) J«mhH$ gXñ`m§À`m _mbH$sMo Am{U {Z §̀{ÌV

~) OZVobm Am{W©H$ godm nwa{dUo

H$) {ZdSy>Z Aboë`m bmoH$à{V{ZYtÛmao em{gV

iii) .......... hr J«hH$ gXñ`m§À`m _mbH$sMr Am{U Ë`m§À`mÛmao {Z §̀{ÌV Amho.

A) J«mhH$ ghH$mar g§ñWm

~) CËnmXH$ ghH$mar g§ñWm

H$) godm ghH$mar g§ñWm

iv) ........... YmoaUmV ñnY©H$mÀ`m qH$_Vtda AmYm[aV qH$_Vr {Z{üV H$aUo g_m{dï>
Amho.

A) ñnYm©Ë_H$ qH$_V

~) ghH$mar qH$_V

H$) IMm©{YH$ qH$_V

P.T.O.
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v) àmW{_H$ g§ñWm ....... ñVamda ñWm{nV Ho$ë`m OmVmV.
A) {Oëhm

~) amÁ`
H$) Jmd

vi) Imbrbn¡H$s ........... hm ghH$mar g§ñWm§gmR>r B©-{dnUZmMm _hÎdmMm \$m`Xm
Amho.
A) OmJ{VH$ àojH$m§n ª̀V _`mª{XV nmohmoM

~) {dnUZ CnH«$_m§Mm IM© H$_r H$aUo
H$) ^m¡{VH$ nm`m ŷV gw{dYm§da Adb§~yZ amhUo

~) Imbrb OmoS>`m Owidm. [5]
"A' "~'

i) ghH$mar {dnUZ A) amÁ` ghH$mar _hmg§K
ii) Zm\o$S> (NAFED) ~) Xw½Y ghH$mar g§ñWm

iii) KmD$H$ ghH$mar ^m§S>ma H$) 1958
iv) Am°naoeZ âbS> àmoJ«m_ S>) qH$_V pñWaVm
v) amÁ` ghH$mar {dnUZ B) KmD$H$ IaoXr

àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) ghH$mar {dnUZmVrb AmYw{ZH$ àdmh
~) {Oëhm ghH$mar {dnUZ g§ñWm

H$) amï´>r` ghH$mar J«mhH$ _hmg§K
S>) H$mnyg à{H«$`m _yë` {ZYm©aU ì ỳhaMZm

àíZ 3) A) {dnUZmMr ì`m»`m gm§JyZ, {dnUZmMo _hÎd g{dñVa ñnï> H$am. [8]
~) ghH$mar {dnUZmMr ì`m»`m gm§JyZ ghH$mar {dnUZmMr g§aMZm ñnï> H$am. [7]

àíZ 4) A) àmW{_H$ ghH$mar J«mhH$ ̂ m§S>ma ̀ mnmgyZ AmnUmg H$m` AW© ~moY hmoVmo? àmW{_H$ ghH$mar
J«mhH$ ^m§S>maMo _hÎd ñnï> H$am. [8]

~) nmoëQ´>r ghH$mar g§ñWoÀ`m g_ñ`m gm§Jm. [7]

♦♦♦



Q1) A) Fill in the blanks (Any 5 out of 6) [5]

i) Normal ___________ is an example of selling overheads

a) Purchase b) Bad debts

c) Prime d) Income

ii) _________ are business expenses not directly attributed to creating
a product or service.

a) Overheads b) Prime cost

c) Costing d) Pricing

iii) Apportionment of overhead is _____ of overheads to more than
one cost centre on some equitable basis.

a) Reporting b) Prime expenses

c) Distribution d) Totalling

iv) ___________ is an example of fixed overheads

a) Material b) Labour

c) Direct expense d) Rent
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v) __________ is a method of cost accounting that identifies and
assigns costs to specific activities.

a) Activity-Based Costing

b) Contract costing

c) Batch processing

d) Material accounting

vi) The Cost Accounting Standards Board develops ___________

a) Cost accounting standards

b) Reporting standards

c) Financial accounting standards

d) Recording standards

B) Match the following : [5]

i) CAS - 15 - grouping of individual costs

ii) Fixed overheads - under applied overhead

iii) Under absorption - over applied overheads

iv) Over absorption - deals with Selling and
Distribution overheads

v) Cost Pool - unaffected by variations

Q2) Short Notes (Any Two out of Four) [10]

a) Cost Accounting Standard 3

b) Activity Based Costing

c) Cost Pools and Cost Divers

d) Classification of overheads
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Q3) The following data were obtained by Global Summit for the month ended 31st

March 2021 from which you are required to calculate the departmental overhead
rate for each of the production department assuming that overheads are
recovdred as percentage of Direct Wages [15]

Particulars          Production departments   Service departments

‘‘A” ‘‘B” “C” ‘‘X” ‘‘Y”

Direct materials in Rs. 15000 30000 30000 22500 22500

Direct wages in Rs. 30000 45000 60000 15000 30000

Staff numbers No. 1500 2250 2250 750 750

Electricity KWH 6000 4500 3000 1500 1500

Capital value of Assets in Rs. 60000 40000 30000 10000 10000

Area Sq. ft. 1500 2500 500 500 500

Light Points No. 10 16 4 6 4

Other expense for the period were :

The overhead Expenses for the period were:

Particulars In Rs

Power 1100

Lighting 200

Stores Overhead 800

Staff Welfare 3000

Depreciation 30000

Repairs 6000

General Overheads 12000

Rent and Taxes 550

Apportion the overhead expenses of service dept “Y” on the basis of direct
wages and those of service dept “X” in the ratio of 10:6:4 to the, Production
Depts.
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Q4) Galaxy Ltd has installed a Historical Costing System and follows the practise
to absorb overheads on the basis of pre-determined rate. The following
particulars are made available relating to the financial year ended on 31st March
2021 [15]

Particulars Rs.

Stock of Work-In-Progress 40000

Factory overheads absorbed 84740

Stock of Finished Goods 120000

Actual Factory Overheads 109740

Cost of Goods Sold 240000

Determine unabsorbed overheads and indicate clearly the profit implications
of different methods of disposal of underabsorbed overheads.





Q1) a) Fill in the blanks  (any Five) : [1 each]
i) A notation and formula of permutation of r objects taken from n

different objects is ________.
ii) A notation and formula of combination of r objects taken from n

different objects is _________
iii) Occurrence of at least one of the two events A and B defined on a

sample space is denoted by ________.
iv) Variance of a constant is always equals to _________.
v) If a discrete random variable (r.v.) X  Poisson (m = 6) then

variance of X is _________.
vi) If a discrete r.v.x  B (n = 10, P = 0.5) then mean of X is _______.

b) State whether following statements is true or false (any five) : [5]
i) If two events A and B are independent then P(A  B) = 0
ii) A discrete r.v. can not take negative values.
iii) Mean and variance of a Bernoulli distribution are equal.
iv) Mean and variance of a Poisson distribution are equal.
v) If two dimensional discrete r.v. (X - Y) are independent then joint

probability distribution of (X - Y) is equal to the product of their
marginal prob. distributions.

vi) For binomial distribution mean < variance.

Total No. of Questions : 4]
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Q2) Write short note on the following (any two) : [5 each]
a) Define : Definations of probability using classical and axiomatic

approach, Addition and multiplication law of probability.
b) Define : Bivariate discrete random variable, joint probability distribution

of a bivariate discrete r.v., marginal probability distributions
of a discrete r.v.

c) Define : Poisson distribution, state its real life situations, state its p.m.f.,
mean, variance state additive property of it.

d) Define : Meaning and necessity of inventory control Lead time,
Re-order level, Buffer stock.

Q3) a) Attempt the following :
i) Four cards are drawn at random from a well shuffled pack of 52

cards. Find the probability that [4]
I) two cards are red & two cards are black
II) all cards are of different suits

ii) Following are the marginal probability distributions of X and of Y
X 1 2 3 Y –1 0 1
p(x) 0.3 0.3 0.4 p(y) 0.1 0.6 0.3
Assuming X and Y are independent r.v.s., obtain joint probability
distribution of (x, y). [4]

b) Attempt the following :
i) State Baye’s theorem. [3]
ii) A fair coin is tossed 3 times. A person receives Rs. x2, if he gets X

number of tails in all. Find his expected grin. [4]

Q4) a) Attempt the following :
i) The joint p.m.f. of (X –Y) is as follows :

Y –1 0 1 2
X

0 0 0.1 0.1 0.2

1 0.1 0.2 0.2 0.1

Obtain conditional probability distribution of Y given (X = 0). [4]
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ii) If X and Y are two independent poisson variates with X Poisson(2),
Y  Poisson(3) then find P(X + Y = 0), P(X + Y < 1), E(X + Y),
Var(X + Y). [4]

b) Attempt the following :

i) A discrete r.v. x with p.m.f. [4]

P(X = x) = kx; x = 1, 2, 3, 4, 5.

= 0  ;   otherwise

Find the value of constant K and E(X)

ii) Define : Deterministic inventory model, probabilistic inventory
model. [3]





Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]
i) Trade Mark Registration fees for MSME have been reduced by

_______
a) 60%
b) 50%
c) 40%

ii) The first pillar of ATMA NIRBHAR BHARAT ABHIYAN is _____.
a) Infrastructure Facilities
b) Economy
c) Technology

iii) The initiative ______ is helping the growth of the MSME sector in
India.
a) ISO Standards
b) IT Revolution
c) Cluster based activities

iv) Business Planning is also known as _______
a) Organization
b) Project Report
c) Management

v) ______, offers comprehensive consultancy services to MSME in
Kerala.
a) KSIOC
b) KITCO
c) DIC
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vi) IFCI established in the year ______
a) 1948
b) 1980
c) 1985

B) Match the following. [5]

Group A Group B

i) Technical Consultancy a) 1978

Organization (TCO)

ii) District Industries Centre b) 2020

(DIC)

iii) Atma Nirbhar Bharat c) 1972

Abhiyan

iv) SIDO d) Incubation Centre

v) ASPIRE e) Small Industries Development
Organization

Q2) Write short notes on. (Any Two) [10]

a) Break Even Analysis

b) Advantages of MSME

c) Objectives of Business Plan

d) Project Audit

Q3) a) Explain the Registration Procedure under MSME. [8]

b) State the Government Schemes for MSME in India. [7]

Q4) a) Explain the Functions of SIDBI [8]

b) Explain the Factors influencing selection of suitable form of Organization.
[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) MSME Zo Q>óS> _mH©$ Zm|XUr eyëH$ ........ Zo H$_r Ho$bo Amho.

A) 60%
~) 50%
H$) 40%

ii) AmË_{Z ©̂a ^maV A{^`mZmMm n{hbm ñV§̂  ...... Amho.
A) nm`m ŷV gw{dYm
~) AW©ì`dñWm
H$) V§ÌkmZ

iii) ....... CnH«$_ ^maVmVrb MSME joÌmÀ`m dmT>rg _XV H$aV Amho.
A) ISO _mZHo$
~) Am`Q>r H«$m§Vr
H$) ŠbñQ>a AmYm[aV CnH«$_

iv) ì`dgm` {Z`moOZ .......... åhUyZ XoIrbr AmoiIbo OmVo.
A) g§KQ>Zm
~) àH$ën Ahdmb
H$) ì`dñWmnZ

v) Ho$aiYrb ..........., MSME bm gd©g_mdoeH$ gëbmJma godm XoVo.
A) KSIOC
~) KITCO
H$) DIC

3 P.T.O.
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vi) IFCI Mr ñWmnZm ......... `m dfu Pmbr.

A) 1948

~) 1980

H$) 1985

~) OmoS>çm bmdm. [5]
JQ>  A JQ> ~

i) Q>opŠZH$b H$ÝgëQ>Ýgr A) 1978

Am°J©Zm`PoeZ (TCO)

ii) {Oëhm CX²̀ moJ H|$Ð ~) 2020

iii) AmË_{Z ©̂a ^maV A{^`mZ H$) 1972

iv) SIDO S>) Cî_m`Z H|$Ð

v) ASPIRE B©) bKw CX²̀ moJ {dH$mg g§ñWm

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) [10]
A) g_ {dÀN>oXZ {díbofU

~) MSME Mo \$m`Xo

H$) ì`dgm` ̀ moOZoMr CX²{Xï>o

S>) àH$ën A§Ho$jU

àíZ àíZ àíZ àíZ àíZ 3) A) MSME A§VJ©V Zm|XUr à{H«$`m ñnï> H$am. [8]
~) ^maVmVrb MSME gmR>r gaH$mar `moOZm gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) SIDBI Mr H$m ò© ñnï> H$am. [8]
~) `mo½` ñdê$nmÀ`m g§ñWoÀ`m {ZdS>rda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [7]


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Q1) A) Fill in the blanks with the most appropriate alternative. (Any five) [5]

i) If an increase in one of the factors affecting the sale of a good also
leads to an increase in the other factor, it is called ___________.

(Category Analysis, Correlation Analysis, Positive Analysis)

ii) In business competition, each _________ tries to establish the brand
of the product in the minds of the consumers.

(Consumers, Buyers, Producers)

iii) Sales budget involves the study of _________.

(Proper selling pricing and planning, distribution outlets, both)

iv) Demand created in the minds of consumers for a product that is not
available in the market is ________.

(Negative Demand, Declining Demand, Latent Demand)

v) An analysis of the strengths, weaknesses, opportunities and threats
of a marketing organization is called _________.

(Production Analysis, SWOT Analysis, Cost Analysis)

vi) The main purpose of _________  is to provide services.
(Professional Organizations, Non-Profit Organizations,
Co-operative Societies)

P.T.O.
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B) Match the following. [5]

Column A Column B

i) SEO Marketing a) Short, Medium and Long-term

ii) Event Marketing b) Charitable Organizations

iii) Sales forecast c) Important activity in sales and
marketing

iv) Non Profit Organization d) Search Engine Optimization

v) Demand forecasting e) Personal or Online programs

Q2) Write short notes. (any two) [10]

a) Characteristics of Non-Profit Organization

b) Customer oriented marketing organization

c) Importance of symbol building strategy

d) Delphi method

Q3) a) Explain the importance of sales forecasting. [8]

b) Explain the advantages of operational marketing organization. [7]

Q4) a) Explain the advantages and disadvantages of marketing organization on
geographical basis. [8]

b) Explain the problems/challenges faced by non-profit organizations. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) Imbrb {Xboë`m àíZm§_Ü òo `mo½` n`m©̀  {ZdSy>Z [aº$ OmJm ^am. (H$moUË`mhr nmM) [5]

i) dñVyÀ`m {dH«$sda n[aUm_ H$aUmè`m EH$m KQ>H$m§_Ü ò dmT>> Pmë`mg Xþgè`m KQ>H$mVhr dmT>
hmoV Agob Va Ë`mbm .......... Ago åhUVmV.

(loUr n¥W:ŠH$aU, ghg§~§Y n¥W:ŠH$aU, gH$mamË_H$ n¥W:ŠH$aU)

ii) ì`mdgm{`H$ ñnY}V àË òH$ ............ CËnm{XV dñVyMm ~«±S> J«mhH$m§À`m _ZmV éO{dÊ`mMm
à`ËZ H$aV AgVmV.

(J«mhH$, IaoXrXma, CËnmXH$)

iii) {dH«$sÀ`m A§XmOnÌH$mV .......... Mm Aä`mg g_m{dï> AgVmo.

(`mo½` {dH«$s$ qH$_V d {Z`moOZ, {dVaU AmCQ>boQ²>g, XmoÝhrhr)

iv) ~mOmanoR>oV CnbãY Zgboë`m CËnmXZmgmR>r J«mhH$m§À`m _ZmV {Z_m©U hmoUmar _mJUr åhUOo
.......... hmò .

(ZH$mamË_H$ _mJUr, KQ>Vr _mJUr, gwá _mJUr)

v) {dnUZ g§KQ>ZoMo e{º$ñWmZ, Xþ~©b ñWmZ, CnbãY g§Yr Am{U YmoHo$ `m~m~VrV Ho$boë`m
{dûcofUmg ............ åhUVmV.

(CËnmXZ {dûcofU, ñdm°Q> {dûcofU, qH$_V {dûcofU)

vi) ............... g§ñWm§Mm à_wI CÔoe godm nwa{dUo hm AgVmo.

(ì`mdgm{`H$ g§ñWm, Aì`mdgm{`H$ g§ñWm, ghH$mar g§ñWm)
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~) `mo½` OmoS²>`m Owidm. [5]

aH$mZm ‘A’ aH$mZm ‘~’

i) Eg B Amo _mH}$qQ>J A) Aën, _Ü`_ Am{U XrK©H$mbrZ

ii) Bìh|Q> _mH}$qQ>J ~) Y_©Xm` g§ñWm

iii) {d{H«$ nydm©Zw_mZ H$) {dH«$s Am{U {dnUZm_Yrb _hÎdmMr {H«$`m

iv) Zm°Z àm°{\$Q> Am°J©Zm`PoeZ S>) emoY B§{OZ Am°pßQ>_m`PoeZ

v) _mJUr nydm©Zw_mZ B) d¡̀ {º$H$ qH$dm Am°ZbmB©Z H$m ©̀H«$_

à.à.à.à.à.2) WmoS>Š`mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Aì`mdgm{`H$ g§KQ>ZoMr d¡{eï²> ò

~) J«mhH$m{^_wI {dnUZ g§KQ>Zm

H$) {MÝhm§H$Z ì ỳhaMZoMo _hÎd

S>) S>oë\$s nÕV

à.à.à.à.à.3) A) {dH«$s nwdm©Zw_mZ åhUOo H$m` Vo gm§JyZ Ë`mMo _hÎd ñnï> H$am. [8]

~) H$m`m©Ym[aV {dnUZ g§KQ>ZoMo \$m`Xo ñnï> H$am. [7]

à.à.à.à.à.4) A) ^m¡Jmo{bH$ AmYmamdarb {dnUZ g§KQ>ZoMo \$m`Xo d VmoQ>o ñnï> H$am. [8]

~) Aì`mdgm{`H$ g§ñWm§g_moarb g_ñ`m/AmìhmZo ñnï> H$am. [7]





Total No. of Questions : 4]

[6315]-314
T.Y.B.Com.

355-I: AGRICULTURAL  AND INDUSTRIAL ECONOMICS -II
(2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC1049 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]

i) ______ is the quality certification mark for agricultural produce.

(BIS, AGMARK, ISO 2001, ISI)

ii) Agricultural produce marketing is a link between _______

(Farmers, The farm and the non-farm sectors, Farmers and
intermediaries, Intermediaries and consumers)

iii) The model APLM act was passed in ________

(2014, 2017, 2011, 2018)

iv) The NABARD provides a _______ to the agriculture sector.

(Finance, Seeds, Fertilizers, Pesticides)

v) The major problem of Agro Industry is _______

(Lack of Capital, Lack of Knowledge, Lack of Human resources,
Lack of willingness)

vi) __________ is an Agro based Industry.

(Steel Industry, Plastic Industry, Metal Industry, Sugar Industry)

P.T.O.
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B) Match the following. [5]

i) Agro Processing Industry a) Problem of Agricultural Marketing

ii) Lack of Capital b) Reduction in Govt. ownership

iii) Deregulation c) e-NAM

iv) Disinvestment d) Jute Industry

v) Electronic Marketing e) Problem of Public Sector

Q2) Write a short note (Any 2 out of 4) [10]

a) Importance of Agricultural Processing Industry

b) Problems of Sugar Industries

c) Food retail Marketing system in India

d) Future Economic Reforms

Q3) a) Explain the importance of Agro based industries [8]

b) Describe the scope of agricultural marketing system in India [7]

Q4) a) Explain the problems of public sector industries [8]

b) Describe the recent agricultural marketing policy of India [7]





3[6315]-314

Total No. of Questions : 4]

[6315]-314
T.Y.B.Com.

355-I: AGRICULTURAL  AND INDUSTRIAL ECONOMICS -II
(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) .......... ‘m’©$V H¥$fr CËnmXZm§Mr JwUdÎmm à‘mUrH$aU Ho$bo OmVo.

(BIS, AGMARK, ISO 2001, ISI)

ii) H¥$fr ‘mb {dnUZ .......... ‘Ü¶o ‘Ü¶ñW åhUyZ H$m‘ H$aVo

(eoVH$ar, H¥$fr Am{U H¥$frVa joÌ, eoVH$ar Am{U ‘Ü¶ñW, ‘Ü¶ñW Am{U Jm«hH$)

iii) APLM H$m¶Xm ........... ‘Ü¶o g§‘V H$aÊ¶mV Ambm.

(2014, 2017, 2011, 2018)

iv) Zm~mS>© ‘m’©$V ........... Mm nwadR>m H¥$fr joÌmg Ho$bm OmVmo.

({dÎm, {~¶mUo, IVo, H$sQ>H$ZmeHo$)

v) .............. {h H¥$fr CÚmoJm§Mr gJù¶mV ‘moR>r g‘ñ¶m Amho.

(^m§S>dbmMm A^md, kmZmMm A^md, ‘mZdr ^m§S>dbmMm A^md, BÀN>meº$sMm A^md)

vi) .............. hm H¥$fr AmYm[aV CÚmoJ Amho.

(bmoI§S> CÚmoJ, ßbmpñQ>H$ CÚmoJ, YmVy CÚmoJ, gmIa CÚmoJ)
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~) ¶mo½¶ OmoS²>¶m bmdm. [5]

i) H¥$fr à{H«$¶m CÚmoJ A) H¥$fr {dnUZmMr g‘ñ¶m

ii) ^m§S>dbmMm A^md ~) emgZmÀ¶m ‘mbH$sV KQ>

iii$) {d{Z¶§ÌU H$) B©-Zm‘

iv>) {ZJªwVdUyH$ S>) VmJ CÚmoJ

v) Bbo³Q´>mo{ZH$ {dnUZ B) gmd©O{ZH$ CÚmoJm§Mr g‘ñ¶m

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H¥$fr à{H«$¶m CÚmoJm§Mo ‘hËd.

~) gmIa CÚmoJm§À¶m g‘ñ¶m.

H$) ^maVr¶ AÞ {H$aH$moi {dnUZ ì¶dñWm.

S>) ^mdr Am{W©H$ gwYmaUm.

à.à.à.à.à.3) A) H¥$fr AmYm[aV CÚmoJm§Mo ‘hËd ñnï> H$am. [8]

~) ^maVmVrb H¥$fr {dnUZ ì¶dñWoMr ì¶már {deX H$am. [7]

à.à.à.à.à.4) A) gmd©O{ZH$ joÌmVrb CÚmoJm§À¶m g‘ñ¶m ñnï> H$am. [8]

~) ^maVmVrb AbrH$S>rb H¥$fr {dnUZ YmoaU {deX H$am. [7]





Total No. of Questions : 4]

[6315]-315
T.Y.B.Com.

355J : DEFENCE BUDGETING, FINANCE & MANAGEMENT - II
(2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

PC1050 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any five of the following. [5×2=10]

a) What is R&D?

b) What is finance?

c) State the meaning of development.

d) Define budget.

e) Define defence budget.

f) Define war time economy.

Q2) Attempt any four of the following. [4×5=20]

a) Industrial policy

b) Resolution

c) Military Spender

d) Ministry of Defence

e) Defence economics

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) Why is India’s defence spending on the rise?

b) Explain the political aspect of defence production.

c) State the future prospects of the defence debate.

d) State the role of the public sector undertaking in defence.

e) Explain the importance of DRDO in war.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail industrial policy resolution of the government since l99l
onwards.

b) Explain in detail the role of the department of Defence production.

c) Explain in detail information and role of Shanghai Co-operation
Organisation (SCO).


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Total No. of Questions : 4]

[6315]-315
T.Y.B.Com.

355J : DEFENCE BUDGETING, FINANCE & MANAGEMENT - II
(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) Ama & S>r åhUOo H$m¶?

~) ’$m¶ZmÝg åhUOo H$m¶?

H$) {dH$mgmMm AW© gm§Jm.

S>) AW©g§H$ënmMr ì¶m»¶m Úm.

B) g§ajU AW©g§H$ën ì¶m»¶m Úm.

’$) ¶wÜXH$mbrZ AW©ì¶dñWm ì¶m»¶m Úm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) Am¡Úmo{JH$ YmoaU

~) R>amd

H$) {‘{bQ>ar ñn§oS>a

S>) g§ajU ‘§Ìmb¶

B) {S>’o$Ýg BH$m°Zm°{‘³g

PC1050
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) ^maVmMm g§ajU IM© H$m dmT>V Amho?

~) g§ajU CËnmXZm g§X^m©V amOH$s¶ n¡bw ñnï> H$am.

H$) g§ajU dmXmÀ¶m ^{dî¶mVrb e³¶Vm gm§Jm.

S>) g§ajU CËnmXZmVrb gmd©O{ZH$ joÌmMr ŷ{‘H$m ñnï> H$am.

B) ¶wÜXmVrb S>r Ama S>r Amo Mo ‘hËd ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) 1991 Z§VaMo gaH$maMo Am¡Úmo{JH$ YmoaU R>amd g{dñVa ñnï> H$am.

~) g§ajU CËnmXZ {d^mJmMr ŷ{‘H$m g{dñVa ñnï> H$am.

H$) em§Km¶ H$mo-Am°naoeZ Am°J©Zm¶PoeZ (SCO) Mr Vnerbdma ‘m{hVr Am{U ŷ{‘H$m ñnï> H$am.





Total No. of Questions : 4]

[6315]-316
T.Y.B.Com.

355 K : INSURANCE, TRANSPORT AND TOURISM -II
(2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC1051 [Total No. of Pages : 4

SEAT No. :

Q1) A) Multiple Choice questions. (Attempt any 5 out of 7) [5]

i) The process of appointing a person to receive the policy benefits in
case of the policyholder’s death is known as ________.

a) nomination b) Conversion

c) Agreement d) Premium

ii) Which One of the Following, is the Basic Insurance Legislation of
the Country, that governs Insurance Business in India?

a) Insurance Act, 1938

b) Insurance Regulatory and Development Authority (I.R.D.A)
Act, 1999

c) Deposit Insurance and Credit Guarantee Corporation Act, 1961.

d) Public Liability Insurance Act, 1991.

iii) Risk-Inspection is Done, for Deciding the Rates of ________.

a) Salary b) Bonus

c) Premium d) Wages

iv) The process of reinstating a lapsed policy by paying overdue
premiums and any interest or penalties is known as ________.

a) Surrender b) Revival

c) Closure d) Claim

v) Risk insured against death is a contract of ________.

a) Agreement b) Permission

c) Assurance d) Caveat emptor

P.T.O.
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vi) Insurance Act, 1938, specifies the Rules for Nomination of Insurance-
Policies under _________.

a) Section 39 b) Section 41

c) Section 45 d) Section 21

vii) The word ‘Assurance’ is used for ________.

a) Life Insurance b) Marine Insurance

c) Fire Insurance d) Medical Insurance

B) Match the following. [5]

i) Dynamic Risk a) Unemployed

ii) Individual Risk b) Stable Environment

iii) Static Risk c) Accident

iv) Pure Risk d) Physical disability

v) Particular Risk e) changes in the economy

Q2) Write short notes (Any 2 out of 4). [10]

a) First Premium

b) Perils and Hazards

c) Time Value of Money

d) Surrender Value

Q3) a) Explain various types of premiums. [8]

b) Explain in details Insurance and Risk Management Techniques. [7]

Q4) a) State the various Pricing elements. [8]

b) Explain the important clauses under Consumer Protection Act 1986. [7]


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Total No. of Questions : 4]

[6315]-316
T.Y.B.Com.

355 K : INSURANCE, TRANSPORT AND TOURISM -II
(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) ~hþn`m©`r àíZ. (7 n¡H$s H$moUVohr 5) [5]
i) nm°{bgrYmaH$mMm _¥Ë ỳ Pmë`mg nm°{bgrMm bm^ KoÊ`mgmR>r EImX²̀ m ì`º$sMr Zo_UyH$

H$aÊ`mMr à{H«$`m ............ åhUyZ AmoiIbr OmVo.
A) Zm_m§H$Z ~) énm§VaU
H$) H$ama S>) àr{_`_

ii) Imbrbn¡H$s H$moUVm ^maVmVrb {d_m ì`dgm`mMog§MmbZ H$aUmao XoemMo _yb ŷV {d_m
H$m`Xo Amho?
A) {d_m H$m`Xm 1938
~>) {d_m {Z`m_H$ Am{U {dH$mg àm{YH$aU (Am`.Ama.S>r.E.) H$m`Xm, 1999
H$) R>odr {d_m Am{U nV h_r H$m°n[aoeZ H$m`Xm ,1961
S>) gmd©O{ZH$ Xm{`Ëd {d_m H$m`Xm,     1991

iii) ............ Mo Xa R>adÊ`mgmR>r OmoIr_ - VnmgUr Ho$br OmVo.
A) nJma ~>) ~moZg
H$) àr{_`_ S>) _Owar

iv) WH$sV háo Am{U H$moUVohr ì`mO qH$dm X§S> ^éZ H$mb~mh²̀  Pmbobr nm°{bgr nwÝhm gwé
H$aÊ`mMr à{H«$`m .......... åhUyZ AmoiIbr OmVo.
A) eaUmJVr ~>) nwZé‚mrdZ
H$) ~§X S>) Xmdm

v) _¥Ë ỳÀ`m OmoI_rda {d_m CVadUo hm EH$ .......... Amho.
A) g§_Vr ~>) nadmZJr
H$) AmídmgZ S>) IaoXrXma gmdY ahmUo

vi) {d_m H$m`Xm, 1938 ............ A§VJ©V {d_m - nm°{bgrÀ`m Zm_m§H$ZmgmR>r {Z`_ {Z{X©ï>
H$aVmo.
A) H$b_ 39 ~>) H$b_ 41
H$) H$b_ 45 S>) H$b_ 21

vii) ‘AmídmgZ’ hm eãX ........... gmR>r dmnabm OmVmo

A) OrdZ {d_m ~>) gmJar {d_m
H$) A{½Z {d_m S>) d¡X²̀ H$s` {d_m

PC1051
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~) `mo½` OmoS²>`m Owidm. [5]

i) S>m`Zm_rH$ OmoIr_ A) ~oamoOJma

ii) d¡̀ {º$H$ YmoH$m ~) pñWa n`m©daU

iii) pñWa OmoIr_ H$) AnKmV

iv) ewÕ OmoIr_ S>) emar[aH$ An§JËd

v) {d{eï> OmoIr_ B) AW©ì`dñWoV ~Xb

à.à.à.à.à.2) {Q>nm {bhm. (4 n¡H$s H$moUVohr 2) [10]

A) n{hbm hám

~) g§H$Q>o Am{U YmoHo$

H$) n¡emMo doioMo _yë`

S>) g_n©U _yë`

à.à.à.à.à.3) A) {då`mÀ`m hßË`mMo {d{dY àH$ma ñnï> H$am. [8]

~) {d_m Am{U OmoIr_ ì`dñWmnZ V§Ì Vnerbdma ñnï> H$am. [7]

à.à.à.à.à.4) A) _yë` {ZYm©aUMo {d{dY KQ>H$ ñnï> H$am. [8]

~) J«mhH$ g§ajU A{Y{Z`_ 1986 _Yrb _hÎdmMr H$b_o ñnï> H$am. [7]


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[6315]-317

T.Y.B.Com.

355(L): COMPUTER PROGRAMMING AND APPLICATION - II

Computer Networking and E- Commerce

(2019 Pattern) (Semester- V)
Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PC1052 [Total No. of Pages :2

SEAT No. :

Q1) A) Fill in the Blanks Any Five: [5]
a) _______ is a type of network topology in which all devices are

connected to a single cable.
i) Ring topology ii) Bus topology
iii) Star topology iv) Hybrid topology

b) HTTP Stands for _______.
i) Hypertext Transmission Protocol
ii) Hypertext Transfer Project
iii) Hypertext Transition Protocol
iv) Hypertext Transfer Protocol

c) _______ is when data can only go in one direction at a time.
i) Half-duplex ii) Full duplex
iii) Hub duplex iv) Router

d) A _______ is an address generated by the CPU during program
execution.
i) Physical address ii) Locator
iii) Rote device iv) Logical address

e) Infrared is a wireless mobile technology used for device
communication over _______.
i) Short ranges ii) Long ranges
iii) Wired iv) Wireless

f) Network architecture refers to the way network devices and services
are structured to serve the connectivity needs of _______ devices.
i) Producers ii) Client
iii) Retailers iv) Wholesalers

P.T.O.
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B) Match the following. [5]
a) Computer network i) Smartphone

b) FTP ii) Classless Inter-Domain Routing

c) Flipkart iii) File transfer protocol

d) Classless addressing iv) E-commerce company

e) Mobile computing v) Interconnected computing

Q2) Short notes (Any 2 out of 4): [10]
a) Bluetooth

b) TCP/IP

c) Radio Transmission

d) Function of Network Interface Cards

Q3) a) What is Computer Network? Explain types of network topology. [8]
b) Explain layers in the OSI Model and explain the functions of each layer.

[7]

Q4) a) What is wireless LAN? Explain different types of wireless LANs. [8]
b) What is E-commerce? Explain types of E-commerce. [7]





Total No. of Questions : 4]

[6315]-318
T.Y.B.Com.

356 (A) : BUSINESS ADMINISTRATION - III
Finance

(2019 Pattern) (Semester - V) (Special Paper - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC1053 [Total No. of Pages : 4

SEAT No. :

Q1) A) Multiple Choice Questions. (Any Five) [5]

i) Trading on Equity is also known as ________.

a) Financial Leverage

b) Operating Leverage

c) Combined Leverage

ii) EBIT is _________.

a) Earnings Before Interest and Taxes

b) Earnings Before Income Taxes

c) Earnings bearing Income Taxes

iii) ________ the right to use the asset against periodical payments.

a) Lessor gives Lessee

b) Lessee gives Lessor

c) Banker gives Lessor

iv) Stock Exchange is an organized market where ________ are traded.

a) Securities

b) Only Shares

c) Only Bonds and Debentures

v) Advance received from the customers can be treated as
___________ Source of capital.

a) Short Term

b) Long Term

c) Medium Term

P.T.O.
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vi) In Hire Purchase Agreement _________ retains all the rights until
all the payments and made.

a) Buyer

b) Seller

c) Third party service provider

B) Match the Pairs. [5]

Group A Group B

i) Preference Shares a) Credit Rating Agency

ii) CRISIL b) Preferential Rights on Profits

iii) Capital Market c) Long Term Debt

iv) Financial Market d) Regulated by SEBI

v) Debenture e)  Money and Capital Market

Q2) Write Short Notes on (Any 2) [10]

a) Certificate of Deposit

b) Risk and Return

c) Scope of Financial Planning

d) Capitalization

Q3) a) What is Corporate Finance? Discuss the need and significance of
Corporate Finance. [8]

b) What is Capital Structure? Discuss factors affecting the pattern of
Capital Structure. [7]

Q4) a) Explain the characteristics of Financial Planning. [8]

b) Discuss various functions of a Stock Exchange. [7]


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356 (A) : BUSINESS ADMINISTRATION - III
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(2019 Pattern) (Semester - V) (Special Paper - III)
(‘amR>r ê$nm§Va)

doi :  2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1 A) ~hþn`m©̀ r àíZ. (H$moUVohr nmM) [5]

i) B{ŠdQ>rdarb ì`mnmambm .......... åhUyZ XoIrb AmoiIbo OmVo.

A) {d{Îm` bm^
~) H$m`©aV bm^
H$) EH${ÌV bm^

ii) EBIT åhUOo ...........

A) ì`mO Am{U H$a `mÀ`m AmYrMr H$_mB©
~) àm{áH$a `mÀ`m AmYrMr H$_mB©

H$) Am`H$a ghZ H$aUmar H$_mB©
iii) .......... {Z`VH$m{bH$ Xò H$m~Ôb _mb_Îmm dmnaÊ`mMm A{YH$ma XoVmo/XoVo.

A) nÅ>oXma ^mS>oH$ébm

~) ^mS>oH$é nÅ>oXmambm
H$) ~±H$ nÅ>oXmambm

iv) ^mJ ~mOma hr EH$ g§K{Q>V ~mOmanoR> Amho {OWo ........... ì`dhma Ho$bo OmVmV.

A) amoIo
~) \$º$ ^mJ
H$) \$º$ ~m±S²>g Am{U H$O©amoIo

v) J«mhH$m§H$Sy>Z {_imbobr AmJmD$ aŠH$_ .......... ^m§S>dbmMm ómoV _mZbm OmVmo.
A) AënH$mbrZ
~) XrK©H$mbrZ

H$) _Ü`_ _wXV
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vi) nÅ>m nÕVrÀ`m H$amam_Ü ò ........... gd© no_|Q> hmoB©n ª̀V gd© A{YH$ma amIyZ R>odVmV.

A) IaoXrXma

~) {dH«o$Vm

H$) V¥Vr` nj godm àXmVm

~) OmoS>²̀ m bmdm. [5]

JQ >- A JQ> - ~

i) AJ«hŠH$ ^mJ A) Ho«${S>Q> aoqQ>J EOÝgr

ii) {H«${gb ~) Zâ`mda àmYmÝ` A{YH$ma

iii) ^m§S>db ~mOma H$) XrK©H$mbrZ H$O©

iv) {d{Îm` ~mOma S>) go~rÛmao {Z §̀{ÌV

v) H$O©amoIo B©) ZmUo Am{U ^m§S>dbr ~mOma

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) R>od à_mUnÌ

~) Omo{I_ Am{U naVmdm

H$) {d{Îm` {Z`moOZmMr ì`már

S>) ^m§S>dbrH$aU

à.à.à.à.à.3) A) H$m°nm}aoQ> \$m`ZmÝg åhUOo H$m`? H$m°nm}aoQ> \$m`ZmÝgMr JaO Am{U _hÎd `mda MMm© H$am. [8]

~) ^m§S>db aMZm åhUOo H$m`? ^m§S>dbr g§aMZoÀ`m n°Q>Z©da n[aUm_ H$aUmè`m KQ>H$m§Mr MMm©
H$am. [7]

à.à.à.à.à.4) A) {d{Îm` {Z`moOZmMr d¡{eï>²̀ o ñnï> H$am. [8]

~) ^mJ ~mOmamÀ`m {d{dY H$m`mªda MMm© H$am. [7]


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Q1) A) Multiple Choice questions. (Attempt any five) [5]
i) Section 5 (b) of the Banking Regulation Act, 1949 defines “banking”

as the accepting, for the purpose of _____, of deposits of money
from the public.
a) Lending b) Investment
c) Lending or Investment d) Lending and Investment

ii) How many sections in all does the Banking Regulation Act, 1949
have?
a) 55 b) 56
c) 57 d) 58

iii) To constitute a person the holder of a negotiable instrument, the
instrument needs
a) Endorser b) Delivery
c) Negotiation d) Only acceptance

iv) Board under the insolvency and Bankruptcy Code means
a) Central Board of Directors of the RBI
b) Securities and Exchange Board of India
c) Board for financial supervision
d) Insolvency and Bankruptcy Board of India

v) ‘Complaint’ as under the Banking Ombudsman Scheme means a
representation in writing or through electronic means containing a
grievance alleging _________ in banking service.
a) Seriousness b) Deficiency
c) Accuracy d) Genuineness

P.T.O.
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vi) For the purpose of carrying out duties under the Banking Ombudsman
Scheme, who holds the power to call for information from a banking
company against whom the complaint is made.
a) Banking Ombudsman

b) Board of directors of the bank concerned
c) SEBI
d) RBI

B) Match the contents from group A with the Most appropriate option in
group B : [5]

Group - A Group - B

i) Banking Ombudsman scheme a) 3

ii) Punishment for dishonour of a cheque b) 2006

iii) Insolvency and Bankruptcy Code c) 138

iv) Negotiable Instruments recognized by law d) 2

v) Parties to a promissory note e) 2016

Q2) Write Short Notes (Any 2): [10]

a) Protest for better security

b) Drawer, Drawee, Payee

c) Presentment for acceptance and payment

d) Appointment and tenure of ombudsman and appellate authority

Q3) a) Explain In detail the power of the RBI relating to the appointment of the
chairman of the board of directors appointed on a whole time basis. [8]

b) Spell out the features that are Common and Uncommon for the negotiable
Instruments. [7]

Q4) a) ‘Insolvency & bankruptcy are similar’. Comment. [8]

b) Who is a banking ombudsman? What are the grounds of Complaint to
reach an ombudsman? [7]


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BANKING & FINANCE - III
356 B : Banking Law and Practices in India

(2019 Pattern) (Semester - V)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àûZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) ~hþn`m©̀ r àíZ. [5]
i) ~±qH$J {Z`_Z H$m`Xm, 1949 _Yrb H$b_ 5 (~) Zwgma ‘‘~±qH$J’’ åhUOo

.......................... ̀ m gmR>r bmoH$m§H$Sy>Z n¡go ñdénmV R>odr ñdrH$maUo.
A) H$Om©D$ aŠH$_ XoUo
~) Jw§VdUyH$ H$aUo
H$) H$Om©D$ aŠH$_ XoUo AWdm Jw§V{dUo
S>) H$Om©D$ aŠH$_ XoUo Am{U Jw§V{dUo

ii) ~±qH$J {Z`_Z H$m`Xm, 1949  _Ü ò EHy$U {H$Vr H$b_ AmhoV?
A) 55 ~) 56
H$) 57 S>) 58

iii) H$moUË`mhr ì`º$sg MbZj_ XñVEodOmMm YmaH$ H$aÊ`mgmR>r gXa XñVEodOmÀ`m ............
JaO Amho.
A) n¥ð>m§H$ZmMr ~) ~Q>dS²>`mMr
H$) naH«$må`VoMr S>) \$º$ _mÝ`VoMr

iv) ZmXmar d {XdmiImoar g§{hVoA§VJ©V ‘_§S>i’ åhUOo
A) ^maVr` [aPìh© ~±Ho$Mo _Ü`dVu g§MmbH$ _§S>i
~) ^maVr` amoIo Am{U {d{Z_` _§S>i
H$) {dÎmr` n ©̀dojUmgmR>rMo _§S>i
S>) ^maVr` ZmXmar d {XdmiImoar _§S>i

v) ~±qH$J bmoH$nmb `moOZoA§VJ©V ‘VH«$ma’ åhUOo ~±qH$J godoVrb ............... g§X^m©Vrb
Amamon H$aUmao boIr qH$dm BboŠQ´>m°{ZH$ ñdénmVrb gmXa Ho$bobo {ddaU hmò .
A) Jm§^r`m© ~) H$_VaVo
H$) AMyH$Vo S>) IaonUm
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vi) ~±qH$J bmoH$nmb `moOZoA§VJ©V Amnë`m H$V©ì`mMo dhZ H$aÊ`mgmR>r Á`m ~±Ho${damoYmV
VH«$ma H$aÊ`mV Ambr Amho Aem ~±Ho$H$Sy>Z _m{hVr _mJ{dÊ`mMo A{YH$ma H$moUmH$S>o AmhoV?

A) ~±qH$J bmoH$nmb ~) g§~§{YV ~±Ho$Mo g§MmbH$ _§S>i

H$) go~r S>) Ama.~r.Am`.

~) JQ> A _Yrb {df`m§À`m JQ> ~ _Yrb `mo½` n`m©̀ mMr {ZdS> H$éZ OmoS²>`m Oyidm. [5]

$ JQ> - A JQ> - ~

i) ~±qH$J bmoH$nmb `moOZm A) 3
ii) YZmXoemÀ`m AZmXamgmR>rMr {ejm ~) 2006

iii) ZmXmar Am{U {XdmiImoar g§{hVm H$) 138

iv) H$m`ÚmZo _mÝ` Ho$bobo MbZj_ XñVEodO S>) 2

v) dMZ{MÆ>rg Agbobo nj B) 2016

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) A{YH$ Mm§Jë`m gwa{jVVogmR>rMm {ZfoY

~) AmXoeH$, AmXo{eVr Am{U AXmVm

H$) ñdrH¥$Vr Am{U n¡go AXm H$aÊ`mgmR>rMo gmXarH$aU

S>) bmoH$nmb Am{U Anrbr` A{YH$mar `m§Mr {Z ẁº$s Am{U H$m ©̀H$mb

à.à.à.à.à.3) A) nyU© doi H$m ©̀H$mbmda {Z ẁº$ Ho$boë`m g§MmbH$ _§S>imÀ`m AÜ`jm§À`m {Z ẁº$ser g§~§{YV ̂ maVr`
[aPìh© ~±Ho$Mo A{YH$ma g{dñVa ñnï> H$am. [8]

~) MbZj_ XñVEodOm§_Yrb g_mZ Am{U Ag_mZ d¡{eï²> ò ñnï> H$am. [7]

à.à.à.à.à.4) A) ‘ZmXmar Am{U {XdmiImoar g_mZ AmhoV’. `mda ^mî` H$am. [8]

~) ~±qH$J bmoH$nmb åhUOo H$moU? ~±qH$J bmoH$nmbmn`ªV nmohmoMÊ`mgmR>rÀ`m VH«$matMr ^y_r
H$m` Amho? [7]


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Q1) A) Fill in the blank with the most appropriate alternative (Any Five) [5]

i) Basic Custom duty is levied under section ______ of the Custom
Act.

(section 12, section 4, section 16, section 2)

ii) ______ rules can be made by the Central Government u/s 156 of
the Customs Act, 1962.

(Transaction value, Import and export manifest, Market price, Form
of Bill of entry)

iii) ______ are the taxes levied on an intra-State supply.

(CGST,SGST,CGST and SGST,IGST)

iv) ______ Forms are used for GST registration.

(Form GSTR-1, Form GST APL-01, Form GST REG-01, Form
GST REG-05)

v) Validity period of GST registration certificate is _______.

(10 years, 5 years, 15 years, till it is cancelled)

vi) GST was implemented in India form ______.

(1st January 2017, 1st March 2017, 1st April 2017, 1st July 2017)

P.T.O.
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B) Match the following. [5]

Column A Column B

i) Excise duty a) Exports and imports

ii) Custom duty b) Indirect tax

iii) Corporate tax c) White form

iv) Capital Gain Tax d) Income of a company

v) Duty free goods e) Sale of property

Q2) Write a short note (Any Two) [10]

a) Levy of custom duty

b) Exemption under GST

c) Role of GST council

d) Shipping bill

Q3) a) Explain the procedure of clearance of imported Goods. [8]

b) Explain the valuation of goods purpose of assessment. [7]

Q4) a) Explain the registration procedure under GST. [8]

b) Explain the accounting and books to be maintain under GST. [7]


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356C : BUSINESS LAW & PRACTICES - III
(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) ‘yb ŷV gr‘mewëH$ ho gr‘m ewëH$ H$m¶ÚmÀ¶m H$b‘ ............ A§VJ©V AmH$mabo OmVo.

(H$b‘ 12, H$b‘ 4, H$b‘ 16, H$b‘ 2)

ii) ........... ~m~VMo {Z¶‘ gr‘m ewëH$ H$m¶Xm 1962 À¶m 156 A§VJ©V Hoo$§Ð gaH$ma V¶ma
H$aVmV.

(ì¶dhma ‘yë¶, Am¶mV Am{U {Z¶m©V ‘mb, ~mOma qH$‘V, EÝQ´>r Mo {~b ’$m°‘©)

iii) ............. ho amÁ¶m§VJ©V nwadR>çmda bmdbo OmUmao H$a AmhoV.

(grOrEgQ>r, EgOrEgQ>r, grOrEgQ>r Am{U EgOrEgQ>r, Am¶OrEgQ>r)

iv) .............. hm ’$m°‘© OrEgQ>r À¶m Zm|XUrgmR>r dmnabm OmVmo.

(’$m°‘© OrEgQ>rAma-1, ’$m°‘© OrEgQ>r EnrEb-01, ’$m°‘© OrEgQ>r AmaB©Or-01, ’$m°‘© OrEgQ>r
AmaB©Or-05)

v) OrEgQ>r Zm|XUr à‘mUnÌmMr d¡YVm H$mbmdYr ........... Amho.

(10 df}, 5 df}, 15 df}, Vo aÔ hmoB©n¶ªV)

vi) OrEgQ>r ^maVmV .................. ¶m H$mimV bmJy H$aÊ¶mV Ambm.

(1 OmZodmar 2017, 1 ‘mM© 2017, 1 E{àb 2017, 1 Owb¡ 2017)
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~) ¶mo½¶ OmoS²>¶m Owidm. [5]

JQ>-A JQ-~

i) CËnmXZ ewëH$ A) Am¶mV d {Z¶m©V

ii) gr‘mewëH$ ~) AàË¶j H$a

iii$) H$mnm}aoQ> H$a H$) ìhm°B©Q> ’$m°‘©

iv>) ^m§S>dbr bm^ H$a S>) H§$nZrMo CËnÞ

v) H$a‘wº$ dñVy B) ‘mb‘ÎmoMr {dH«$s

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]

A) gr‘mewëH$ AmH$maUr

~) OrEgQ>r A§VJ©V gyQ>

H$) OrEgQ>r n[afXoMr ŷ{‘H$m

S>) OhmOmMr nmdVr/{eqnJ ~rb

à.à.à.à.à.3) A) Am¶mV Ho$boë¶m dñVy§À¶m ‘§OwarMr à{H«$¶m ñnï> H$am. [8]

~) ‘mbmÀ¶m ‘yë¶m§H$ZmMm CÔoe ñnï> H$am. [7]

à.à.à.à.à.4) A) OrEgQ>r A§VJ©V Zm|XUr à{H«$¶m ñnï> H$am. [8]

~) OrEgQ>r A§VJ©V R>odbo OmUmar godm nwñVHo$ qH$dm boIm nwñVHo$ ñnï> H$am. [7]


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Q1) A) Multiple choice questions. [5]

i) The Urban Co-operatives are also known as _____.

a) Urban Co-operative Banks b) Co-operative Banks

c) National Banks d) None of the Above

ii) Training is ______ Process.

a) Short Term b) Long Term

c) Medium Term d) Production

iii) Cooperative Management increases ______

a) Profit b) Money

c) Productivity d) Service

iv) The structure of Co-operative Management is of______ type.

a) Federal b) Centralized

c) Decentralized d) Autocratic

v) Executive body of Co-operative Society is a _______.

a) Members b) Stakeholders

c) Government d) Board of Directors

P.T.O.
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B) Match the following. [5]

Group - A Group - B

i) Co-operative Management a) HRM Planning

ii) Human Resource Management b) Basic function of

Co-operaive Management

iii) Training and Development c) Management Principle

iv) Planning d) HRM Function

v) Manpower e) Employee Planning

Q2) Write short notes on. (Any two): [10]

a) Evaluation of Co-operative Management

b) Role of Co-operative Management.

c) Recruitment in HRM

d) Appraisal and Evaluation of HRM

Q3) a) State the nature and scope of Co-operative Management.  [8]

b) State the Levels of Management. [7]

Q4) a) State the human relationship in Co-operatives. [8]

b) State the training and managerial development in HRM. [7]


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356 D : CO-OPERATION AND RURAL DEVELOPMENT - III
(2019 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1)  gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) ~hþn`m©̀ r àíZ. [5]

i) ZmJar ghH$mar g§ñWm§Zm ............... åhUyZhr AmoiIbo OmVo.

A) ZmJar ghH$mar ~±H$m ~) ghH$mar ~±H$m

H$) amï´>r` ~±H$m S>) `mn¡H$s Zmhr

ii) à{ejU hr ............... à{H«$`m Amho.

A) AënH$mbrZ ~) XrK©H$mbrZ

H$) _Ü`_ _wXV S>) CËnmXZ

iii) ghH$mar ì`dñWmnZ ............... dmT>dVo.

A) Z\$m ~) n¡gm

H$) CËnmXH$Vm S>) godm

iv) ghH$mar ì`dñWmnZmMr aMZm ............... àH$maMr Amho.

A) \o$S>ab ~) H|$ÐrH¥$V

H$) {dH|${ÐV S>) hþHw$_emhr

v) ghH$mar g§ñWoMr H$m ©̀H$mar g§ñWm ............... Amho.

A) gXñ` ~) ^mJYmaH$

H$) gaH$ma S>) g§MmbH$ _§S>i
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~) OmoS²>`m bmdm. [5]

JQ> ‘A’ JQ> ‘~’

i) ghH$mar ì`dñWmnZ A) _mZd g§gmYZ {Z`moOZ

ii) _mZd g§gmYZ ì`dñWmnZ ~) ghH$mar ì`dñWmnZmMo _yb ŷV H$m ©̀

iii) à{ejU Am{U {dH$mg H$) ì`dñWmnZ VÎd

iv) {Z`moOZ S>) _mZd g§gmYZ H$m ©̀

v) _Zwî`~i B) H$_©Mmar {Z`moOZ

à.à.à.à.à.2) {Q>nm {bhm. (Mma n¡H$s H$moUVohr XmoZ) [10]

A) ghH$mar ì`dñWmnZmMo _yë`_mnZ

~) ghH$mar ì`dñWmnZmMr ŷ{_H$m

H$) _mZd g§gmYZmVrb ^aVr à{H«$`m

S>) _mZd g§gmYZ ì`dñWmnZmMo _yë`m§H$Z Am{U _yë`_mnZ

à.à.à.à.à.3) A) ghH$mar ì`dñWmnZmMo ñdén Am{U ì`mßVr gm§Jm. [8]

~) ì`dñWmnZmMo ñVa gm§Jm. [7]

à.à.à.à.à.4) A) ghH$mamVrb _mZdr g§~§Y gm§Jm. [8]

~) _mZd g§gmYZ ì`dñWmnZ _Ü ò à{ejU Am{U ì`dñWmnH$s` {dH$mg gm§Jm. [7]


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Q1) A) Multiple Choice Questions (Any 5 out of 6): [5]
a) The break-even point is the point at which total cost and total revenue

are ______.
i) Different ii) Equal
iii) Exceeding iv) Preceding

b) A _______ is an estimation of the cash inflows and outlflows for a
business or individual for a specific period of time.
i) Cash budget ii) Sales budget
iii) Production budget iv) Flexible budget

c) ______ is the additional cost incurred when producing one more
unit of a products.
i) Marginal costing ii) Process costing
iii) Contract costing iv) Job costing

d) _______ comparison means a comparison of two or more similar
business units.
i) Uniform costing ii) Decision making
iii) Inter-firm iv) Income

e) Full form of MIS _______.
i) Management Information System
ii) Making Information System
iii) Master Information system
iv) Most Information System

f) Marginal costing is also known as _______.
i) Variable costing ii) Process costing
iii) Contract costing iv) Job costing

P.T.O.
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B) Match the following [5]

Group - A Group - B

a) Fixed cost i) Expense that changes with the production
or sales

b) Margin of safety ii) Sales minus Variable Cost

c) Flexible Budget iii) Actual sales minus break even sales

d) Variable cost iv) Expenses that remain the same

e) Contribution v) Adjusts for changes in the level of activity

Q2) Attempt short notes Any 2: [10]

a) Terms used in Marginal Costing

b) Types of Budgets

c) Importance of Inter firm comparison

d) Advantages of Budgetory Control

Q3) a) Bajaj Industries provides the following cost data [8]

Particulars Rs.

Sales 1,50,000

Marginal Cost 1,20,000

Fixed overheads 20,000

Gross profit 60,000

Net profit 40,000

Calculate:

i) P/V Ratio

ii) BEP (Sales)

iii) Net Profit when sales are 4,00,000

iv) Sales required to earn a profit of 80,000

b) What is ‘Management Information System’? State the important Features
of Management Information Sysem. [7]
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Q4) a) The Statement given below provides Flexible budget at 60% capacity of
Fine Corporation Ltd. Prepare a tabulated statement giving the budget
figures at 75% capacity and 90% capacity. Make your own classification
of expenses between Fixed, Variable and semi variable expenses. [8]

Particulars 60% capacity

Prime Cost materials 1,60,000

Depreciation 60,000

Productive Wages 40,000

Rent 12,000

Indirect materials 48,000

Insurance of machinery 12,000

Indirect Labour 40,000

Electric Power (40% Fixed) 8,000

Repairs and Maintenance (60% Fixed) 20,000

b) Explain the term uniform costing. State the advantages & limitations of
Uniform Costing. [7]


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Q1) a) Fill in the blanks (any five): [5]
i) In game theory, if ______ ≠ minimax, then there does not exist

saddle point.
ii) C-chart is used to control _______.
iii) P-chart is used to control _______.
iv) In replacement problem, maintenance cost is always ______.
v) We use _______ criteria to average the elements of payoff of

corresponding strategy.
vi) Electronic fluctuations is belonging to ______ causes.

b) State whether each of the following statement is true or false. (Any Five)
[5]

i) If the value of the game is less than zero then game is called as fair
game.

ii) P-chart is used to control proportion of defectives.
iii) In two person zero-sum game, value of the game is always zero.
iv) If quantity in hand is greater than demand then there exist opportunity

loss.
v) In replacement problem, we can use value of money which remains

same during the period.
vi) Control charts are applying on continuous production process.

Q2) Attempt any two of the following: (5 each) [10]
a) Solve the following game:

1 2 3

1

2

3

Player B
B B B

A 1 7 2

Player A A 6 2 7

A 6 1 6

 
 
 
  

P.T.O.
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b) Explain the concept of process capability study. Also state the
interpretation of capability index C

p
 and C

pk
.

c) The number of defects in 10 different carpets are as follows:
1, 0, 2, 3, 1, 2, 1, 3, 0, 0.

Construct C-chart. Comment.
d) What do you meant by control limits? What purpose do they serve in

control charts? Write control limits for p-chart.

Q3) a) The following data on the basis of sample of 5 being taken every hour.[8]
Sample No. 1 2 3 4 5 6 7 8 9 10
Mean 1080 1390 1460 1380 1090 1230 1370 1310 1630 1230
Range 420 670 180 320 70 690 950 380 1080 580
Construct control charts for mean and range. Comment on whether the
process seems to be under control. (n=5, A

2
=0.577, D

3
=0, D

4
=2.115).

b) The demand for a cake in the bakery may be 30, 40, 50, 60 and 70 with
respective probabilities 0.2, 0.2, 0.3, 0.2, 0.1 purchasing cost and selling
price of cake is Rs. 5 and Rs. 10 respectively. Balance cake is treated as
waste. Write the pay-off matrix for the given situation. How much cake
should be making using EoL criteria? [7]

Q4) a) The maintenance cost and resale value per year of a machine whose
purchase price is Rs. 7,000 is given below. [8]
Year 1 2 3 4 5 6 7 8
Maintenance 900 1200 1600 2100 2800 3700 4700 5900
Cost (Rs.)
Resale value 4000 2000 1200 600 500 400 400 400
(Rs.)
Determine at which time it is profitable to replace the machine.

b) For the following pay-off table find the optimal strategy by maximax,
maximin, Laplace criterion and Helrwicz criterion. (α = 0.8) [7]

State of Nature N
1

N
2

N
3

N
4

          →
Act ↓

S
1

12 7 8 3
S

2
9 8 6 7

S3 7 8 8 11


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Q1) A) Multiple choice questions. (Any 5) [5]

i) Organizational Behaviour is a _________

a) Science

b) Art

c) Science and Art

ii) Organization Behaviour in Entrepreneurship helps to understand
behaviour of human in __________

a) Work place only

b) Society only

c) Work place and society

iii) In present context, challenges for Organizational Behaviour are
__________

a) Globalization

b) Social

c) Political

iv) Attitudes affect ___________ at a different level.

a) Personality

b) Behaviour

c) Perception

v) Kiran Mazumdar Shaw is the founder of __________

a) Biocon

b) Bharat Forge

c) Nykaa

P.T.O.
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vi) When designing reward system for teams, it is best to encourage
cooperative efforts rather than __________ ones.

a) Competitive

b) Individual

c) Cooperative

B) Match the following. [5]

Group A Group B

i Model of Organizational Behavior a  Nykaa

ii  Determinants of Individual Behavior b Physical

iii Falguni Nayar c Custodial

iv Factor of Personality d Helping Behaviour

v Group Cohesion e  Biological & Individual
Factors

Q2) Write Short Notes (Attempt Any Two) [10]

a) Need of Organizational Behaviour for Entrepreneurship.

b) Characteristics of Personality.

c) Kiran Mazumdar Shaw.

d) Group Cohesion.

Q3) a) What is Organizational Behaviour? Explain Merits and Demerits of
Organizational Behaviour for Enterpreneurship. [8]

b)) Explain Factors of Personality. [7]

Q4) a) Explain the Autobiography of Mr. Shiv Nadar (Indian Industrialist). [8]

b) Explain Types of Group Dynamics. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àûZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) ~hþn`m©̀ r àíZ. (H$moUVohr nmM) [5]

i) g§ñWmË_H$ dV©Z ho EH$ ............... Amho.
A) {dkmZ
~) H$bm
H$) {dkmZ Am{U H$bm

ii) CÚmoOH$VoVrb g§ñWoMo dV©Z _mZdr dV©Z g_OÊ`mg ................ `m {R>H$mUr _XV
H$aVo.
A) \$º$ H$m_mMr OmJm
~) \$º$ g_mO
H$) H$m_mMr OmJm Am{U g_mO

iii) gÜ`mÀ`m g§X^m©V, g§KQ>ZmË_H$ dV©ZmgmR>r AmìhmZo ............ AmhoV.
A) OmJ{VH$sH$aU
~) gm_m{OH$
H$) amOH$s`

iv) d¥Îmr doJù`m .......... ñVamda n[aUm_ H$aVmV.
A) ì`{º$_Ëd
~) dV©Z
H$) g_O

v) {H$aU _wPw_Xma em° øm ............... À`m g§ñWmnH$ AmhoV.
A) ~m`moH$m°Z
~) ^maV \$moO©
H$) Zm`H$m

PC1059



4[6315]-324

vi) g§Km§gmR>r ~jrg àUmbr V`ma H$aVmZm, ............ nojm ghH$mar à`ËZm§Zm àmoËgmhZ XoUo
Mm§Jbo.

A) ñnYm©Ë_H$
~) d¡`{º$H$
H$) ghH$mar

~) OmoS²>`m bmdm. [5]

JQ> ‘A’ JQ> ‘~’

i) g§ñWmË_H$ dV©ZmMo _m°S>ob A) Zm`H$m

ii) d¡̀ {ŠÎmH$ dV©ZmMo {ZYm©aH$ ~) emar[aH$
iii) \$mëJwZr Zm`a H$) nmbH$Ëd

iv>) ì`{ŠV_ËdmMm KQ>H$ S>) _XV H$aUmao dV©Z
v) JQ> gm_§Oñ` B) O¡{dH$ Am{U d¡̀ {ŠÎmH$ KQ>H$

à.à.à.à.à.2){Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) CÚmoOH$VogmR>r g§KQ>ZmË_H$ dV©ZmMr JaO.

~) ì`{º$_ÎdmMr d¡{eï²> ò.

H$) {H$aU _wPw_Xma em°.

S>) JQ> gm_§Oñ`.

à.à.à.à.à.3) A) g§KQ>ZmË_H$ dV©Z åhUOo H$m`? CÚmoOH$VogmR>r g§ñWmË_H$ dV©ZmMo JwU Am{U Xmof ñnï> H$am.[8]

~) ì`{º$_ÎdmMo KQ>H$ ñnï> H$am. [7]

à.à.à.à.à.4) A) lr {ed ZmS>a (^maVr` CÚmoJnVr) `m§Mo AmË_M[aÌ ñnï> H$am. [8]

~) g_yh J{VerbVoMo àH$ma ñnï> H$am. [7]


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Q1) A) Multiple choice questions (Attempt any 5 out of 6) [5]
i) Information about various substitute goods is obtained by ______

a) Publicity b) Advertising
c) Public Relations d) Sales Promotion

ii) Promotion of goods and services through electronic and digital media
means ––––––––
a)  Advertising b) E- Advertising
c) E- Publicity d) E- Commerce

iii) The motivation that leads consumers to purchase goods and services
is called –––––––
a) Sales Motivation
b) Consumption Motivation
c) Purchase Motivation
d) Product Motivation

iv) ______Advertising increases the demand for goods in large
quantities.
a) Long Term b) Short Term
c) Online d) Direct

v) ______ means the dominance of a particular producer or seller
over the entire market.
a) Decentralization b) Market Strategy
c) Monopoly d) Dictatorship

P.T.O.
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vi) Warranty given by the manufacturing organization about the brand
of the product means ______
a) Brand Promise
b) Brand Name
c) Brand Identity
d) Brand Awareness

B) Match the following. [5]
Group-A Group-B

i) Advertisement a) Broadcast Media

ii) Radio b) Appearance, Reputation and
Standard of Living

iii) Emotional Motivational    c) Protection of Consumer Interest and
Purchase Motivational Rights

iv) Consumer Protection d) Intellectual Property Protecting
Brands

v) Trademarks e) Art of Creating Demand for Goods
and Services

Q2) Write short notes on (Any Two) [10]
a) Role of advertisement in modern business.
b) Positive affective approach in advertising.
c) Advertising Standards Council of India.
d) Challenges regarding new branding.

Q3) a) What is Advertising Media? Explain the characteristics of advertising media
by classifying them. [8]

b) Explain the relationship between advertising appeals and purchase
motivation. [7]

Q4) a) What is Branding? Explain the features of branding. [8]
b) Explain various social aspects of advertisement in detail. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or n«íZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) ~hþn¶m©¶r àíZ. (H$moUË¶mhr nmM) [5]
i) {d{dY n¶m©¶r dñVy§{df¶r ‘m{hVr ............ ‘wio àmá hmoVo.

A) à{gÜXr
~) Om{hamV
H$) OZg§nH©$
S>) {dH«$¶d¥ÜXr

ii) Bbo³Q´>m°{ZH$ d {S>{OQ>b ‘mÜ¶‘m§À¶m ghmæ¶mZo dñVy d godm§Mr Om{hamVrÛmao H$ê$Z {Xbobr
AmoiI åhUOo ............ hmo¶.
A) Om{hamV
~) B© - Om{hamV
H$) B© - à{gÜXr
S>) B© - H$m°‘g©

iii) Á¶m àoaUo‘wio J«mhH$ dñVy d godm IaoXr H$aÊ¶mg àd¥Îm hmoVmV Ë¶mbm ........... Ago
åhUVmV.
A) {dH«$s à«oaUm
~) Cn^moJ àoaUm
H$) IaoXr àoaUm
S>) dñVy àoaUm

iv) ............ Om{hamVr‘wio dñVy§Zm ‘moR>çm à‘mUmV ‘mJUr dmT>Vo.
A) XrK©H$mi
~) AënH$mi
H) Am°ZbmBZ
S>) àË¶j

PC1060
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v) ............. åhUOo g§nyU© ~mOmanoR>oda EImÚm {d{eï> CËnmXH$mMo qH$dm {dH«o$Ë¶mMo dM©ñd
{Z‘m©U H$aUo hmo¶.
A) {dH|$ÐrH$aU
~) ~mOmanoR> ì¶yhaMZm
H$) ‘ºo$Xmar
S>) hþHw$‘emhr

vi) CËnmXZ g§ñWoÛmao dñVyÀ¶m ~±«S>{df¶r {Xbobr h‘r åhUOo ............. hmo¶.
A) ~±«S> dMZ
~) ~±«S Zmd
H$) ~±«S AmoiI
S>) ~±«S> OmJê$H$Vm

~) OmoS²>¶m Owidm. [5]
JQ>-A JQ>-~

i) Om{hamV A) àgmaU ‘mÜ¶‘
ii) AmH$medmUr ~) dñVyMo ~møê$n, à{Vð>m d amhUr‘mZ
iii$) ^mdZmË‘H$ àmoñVmhZna IaoXr àoaUm H$) J«mhH$m§À¶m {hVmMo d h¸$m§Mo g§ajU
iv>) J«mhH$ g§ajU S>) ~±«S>Mo g§ajU H$aUmar ~m¡pÜXH$ g§nXm
v) Q´>oS>‘mH©$ B) dñVy d godogmR>r ‘mJUr {Z‘m©U H$aÊ¶mMr

H$bm

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) AmYw{ZH$ ì¶dgm¶mV Om{hamVrMr ŷ{‘H$m
~) Om{hamVrVrb gH$mamË‘H$ ^md{ZH$ Ñï>rH$moZ
H$) ^maVr¶ Om{hamV ‘mZH$ n[afX
S>) ZdrZ {MÝhm§H$Zm~m~V AmìhmZo

à.à.à.à.à.3) A) Om{hamV ‘mÜ¶‘o åhUOo H$m¶? Om{hamV ‘mÜ¶‘m§Mo dJuH$aU H$ê$Z d¡{eîQ>ço ñnï> H$am. [8]
~) Om{hamV AmdmhZo Am{U IaoXr àoaUm ¶mVrb g§~§Y ñnï> H$am. [7]

à.à.à.à.à.4 A) {MÝhm§H$Z åhUOo H$m¶? {MÝhm§H$ZmMr d¡{eîQ>ço ñnï> H$am. [8]

~) Om{hamVrMo {d{dY gm‘m{OH$ n¡by g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]

i) The __________ industry shows the major interdependence be-
tween Agriculture and Industry sector.

(Sugar Industry, Communication Industry, Finance Industry,
Insurance Industry)

ii) The apex Cooperative credit institute works at ___________.

(Village, District, Tehsil, State)

iii) The SEZ act in India was passed in  __________.

(2005, 2007, 2009, 2010)

iv) The agricultural credit is mainly needed for __________.

(Crop Cultivation, Farm Mechanization, Purchasing Farm,
adoption new technologies)

v) The __________ is the major shortcoming of New Industrial Policy
implemented in 1991.

(labor displacement, less economic development, low investment
flow, low rate of growth)

vi) The informal sector loans incorporate _________.

( SBI, Money lenders, NABARD, Commercial banks)

P.T.O.
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B) Match the following. [5]

Group A Group B

i) Formal source of Credit a)  Agricultural Development

ii) Provision of food b) New Industrial Policy

iii) Liberalization c) Multinational companies

iv) Needed for employment d) Commercial Banks

generation

v) Industrial development e)  Industrial Policy

Q2) Write a Short Notes (Any 2 out of 4) [10]

a) Importance of Industrial Policy.

b) Special Economic Zone.

c) Cooperative Credit Organizations.

d) Feature of rural economy.

Q3) a) Explain the interdependence of Agriculture and Industry. [8]

b) Describe the impact of New Industrial Policy 1991 on Indian Economy.[7]

Q4) a) Explain the types of Agricultural credit. [8]

b) Describe the challenges before the agriculture credit. [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àûZn{ÌH$m nhmdr.

à.à.à.à.à.1 A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]

i) ............... H¥$fr Am{U CÚmoJ joÌ `m§Vrb nañnamdb§~rËd Xe©{dVmo.

(gmIa CÚmoJ, g§XoedhZ CÚmoJ, {dÎm CÚmoJ, {d_m CÚmoJ)

ii) {eIa ghH$mar g§ñWm ........... `m ñVamda H$m ©̀ H$aVo.

(IoS>o, {Oëhm, VmbwH$m, amÁ`)

iii) ^maVm_Ü ò goP Mm H$m`Xm .......... `m dfu g§_V H$aÊ`mV Ambm.

(2005, 2007, 2009, 2010)

iv) H¥$fr nVnwadR²>`mMr àm_w»`mZo .......... gmR>r Amdí`H$Vm AgVo.

({nH$ _emJV, eoVr AmYw{ZH$sH$aU, eoVr IaoXr, ZdrZ V§ÌkmZmMm Adb§~)

v) 1991 _Ü ò bmJy H$aÊ`mV Amboë`m ZdrZ Am¡Úmo{JH$ YmoaUmVrb .............. hr à_wI
H$_VaVm Amho.

(H$m_Jma {dñWmnZ, H$_r Am{W©H$ {dH$mg, H$_r Jw§VdUyH$ àdmh, H$_r dmT>rMm Xa)

vi) ............ hm nV nwadR²>`mMm AZm¡nMm[aH$ ómoV Amho.

( ñQ>oQ> ~±H$ Am°\$ B§{S>`m, gmdH$ma, Zm~mS>©, ì`mnmar ~±H$m)

PC1061
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~) `mo½` OmoS²>`m bmdm. [5]

JQ> - A JQ> - ~

i) nVnwadR²>`m Am¡nMm[aH$ ómoV A) H¥$fr {dH$mg

ii) AÝÝmmMr VaVyX ~) ZdrZ Am¡Úmo{JH$ YmoaU

iii) CXmarH$aU H$) ~hþamï´>r` H§$nÝ`m

iv>) amoOJma {Z{_©VrgmR>r Amdí`H$ S>) ì`mnmar ~±H$m

v) Am¡Úmo{JH$ {dH$mg B) Am¡Úmo{JH$ YmoaU

à.à.à.à.à.2){Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Am¡Úmo{JH$ YmoaUmMo _hÎd

~) {deof Am{W©H$ joÌ

H$) ghH$mar nV nwadR>m g§ñWm

S>) J«m_rU AW©ì`dñWoMr d¡{eï²> ò

à.à.à.à.à.3) A) H¥$fr d CÚmoJm§Mo nañnamdb§~rËd ñnï> H$am. [8]

~) ZdrZ Am¡ÚmoJrH$ YmoaU - 1991 Mm ^maVr` AW©©ì`dñWodarb à^md {deX H$am. [7]

à.à.à.à.à.4) A) H¥$fr nVnwadR²>`mMo àH$ma ñnï> H$am. [8]

~) H¥$fr nVnwadR²>`mg_moarb AmìhmZo ñnï> H$am. [7]


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Q1) Attempt any five of the following. [5×2=10]

a) What is financial management?

b) Define the economic system.

c) Define public good.

d) Define micro economics.

e) What is Defence Scientific Information?

f) State the defence budget structure.

Q2) Attempt any four of the following. [4×5=20]

a) Financial advisor.

b) Defence account department.

c) Defence Science Library.

d) Defence economics.

e) Defence Documentation Centre.

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) State economical theory of Defence.

b) Explain India’s Sea-based Ballistic Missile Defence Interceptor.

c) Explain the defence and development.

d) State the principles of the financial system.

e) Explain the defence budget allocation.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail the role of India’s Nuclear Commands.

b) Explain in detail the role of the defence account department.

c) Explain in detail the structure of a five years defence plan.


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) ’$m¶ZmpÝe¶b ‘°ZoO‘|Q> åhUOo H$m¶?

~) Am{W©H$ ì¶dñWm ì¶m»¶m Úm.

H$) npãbH$ JwS> ì¶m»¶m Úm.

S>) ‘m¶H«$moBH$m°Zm°{‘³g ì¶m»¶m Úm.

B) {S>’o$Ýg gm¶§{Q>{’$H$ BÝ’$m°‘}eZ åhUOo H$m¶?

’$) g§ajU AW©g§H$ënmMo ñdê$n gm§Jm.

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) ’$m¶ZmpÝeAb A°S>ìhm¶Pa

~) {S>’o$Ýg AH$mC§Q> {S>nmQ>©>‘|Q>

H$) {S>’o$Ýg gm¶Ýg bm¶~«ar

S>) {S>’o$Ýg BH$m°Zm°{‘³g

B) {S>’o$Ýg S>m°³¶w‘|Q>oeZ g|Q>a
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) g§ajUmMm Am{W©H$ {gÕm§V gm§Jm.

~) ^maVmÀ¶m g‘wÐmda AmYm[aV ~°{bpñQ>H$ {‘gmBb {S>’o$Ýg B§Q>agoßQ>aMo ñnï>rH$aU Úm.

H$) g§ajU Am{U {dH$mg ñnï> H$am.

S>) ’$m¶ZmpÝe¶b {gñQ>r‘Mr ‘ybVËdo gm§Jm.

B) {S>’o$Ýg ~OoQ> AbmoHo$eZ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) ^maVmÀ¶m AmpÊdH$ H$‘m§S²>gMr ŷ{‘H$m g{dñVa ñnï> H$am.

~) {S>’o$Ýg AH$mC§Q> {S>nmQ>©‘|Q>Mr ŷ{‘H$m g{dñVa ñnï> H$am.

H$) g§ajU n§Mdm{f©H$ ¶moOZoMo ñdê$n g{dñVa ñnï> H$am.





Q1) A) Fill in the Blanks  (Any 5) : [5 × 1 = 5]
i) Loss arising due to risk exposure retained or assured is known

as_____
a) Risk Reduction
b) Risk Retention
c) Risk Sharing

ii) Transfer of rights and remedies of the insured to the insurer after
indemnity has been effected is called____
a) Insurable Interest
b) Money Back Policy
c) Subrogation

iii) ____is those terms, which are implied in every contract of marine
insurance unless they are expressly excluded.
a) Guarantee
b) Implied Warranties
c) Express Warranties

iv) The term Assurance refers to_____
a) Life Insurance Business
b) Fire Insurance Business
c) Motor Vehicle Business

Total No. of Questions : 4]
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v) Presently there are how many Insurance Ombudsman's offices in
India?
a) 19
b) 17
c) 14

vi) The strategy pursued by the business firm to tackle risk by spreading
into some business is______
a) Diversification
b) Centralization
c) Financing.

B) Match the Following: [5]

Group 'A' Group 'B'

i) Nomination a) Full decentralization

ii) Assignment of policy b) Renewal of policy

iii) Foreclosure of policy c) In favour of any individual

iv) Establishment of GIC d) Assignee can do

v) American Insurance System e) 1972

Q2) Short Notes (Any two) : [10]

a) Ethical Behaviour of Customer

b) Underwriting practices in Medical insurance.

c) Duties of surveyors.

d) Privatization of Insurance Sector.

Q3) a) What are the different types of customers in insurance sector? [8]

b) What are the various objectives of Underwriting? [7]

Q4) a) State the role of educational institutions in insurance sector. [8]

b) Distinguish between UK and Indian insurance system. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) amIyZ R>odboë`m qH$dm ImÌrera OmoI_rÀ`m àXe©Zm_wio CØdUmao ZwH$gmZ .......

åhUyZ AmoiIbo OmVo.

A) OmoIr_ H$_r H$aUo

~) OmoIr_ YmaUm

H$) OmoIr_ gm_m{`H$aU

ii) ZwH$gmZ^anmB© bmJy Pmë`mZ§Va {d_mYmaH$mMo A{YH$ma Am{U Cnm` {d_mYmaH$mg
hñVm§V[aV H$aUo `mg ......... åhUVmV.

A) {d_m`mo½` ì`mO

~) _Zr ~±H$ nm°{bgr

H$) _mbH$s hŠH$ ~Xb

iii) ............... Ë`m AQ>r AmhoV, Á`m gmJar {då`mÀ`m àË`oH$ H$amam_Ü`o {Z{hV
AmhoV Omon ª̀V Vo ñnï>nUo dJibo OmV ZmhrV.

A) h_r

~) {Z{hV h_r

H$) ì`º$ h_r

iv) ImÌr (Assurance) `m eãXmMm g§X ©̂ ......... er Amho.

A) OrdZ {d_m ì`dgm`

~) AmJ {d_m ì`dgm`

H$) _moQ>ma dmhZ ì`dgm`

3 P.T.O.
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v) gÜ`m ^maVmV {d_m bmoH$nmbMr {H$Vr H$m`m©b ò AmhoV?
A) 19
~) 17
H$) 14

vi) H$mhr ì`dgm`mV nmR> nwamdm H$ê$Z OmoIr_ hmVmiÊ`mgmR>r ì`dgm{`H$ H§$nÝ`m§Zr
Adb§~bobr aUZrVr åhUOo ...........

A) {d{dYrH$aU

~) H|$ÐrH$aU

H$) {dÎmnwadR>m

~) OmoS>çm Owidm. [5]
JQ> "A' JQ> "~'

i) Zm_m§H$Z A) nyU© {dH|$ÐrH$aU

ii) {d_mnÌmgmR>r {Z ẁº$s ~) {då`mMo ZyVZrH$aU

iii) _wXVnyd© ~§X {d_m H$) H$moUË`mhr ì`º$sÀ`m ~mOyZo

iv) GIC Mr ñWmnZm S>) _wIË`ma {ZdS> H$ê$ eH$Vmo

v) A_o[aH$Z {d_m àUmbr B) 1972

\$) g_n©U _yë`

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) [10]
A) J«mhH$mMo Z¡{VH$ dV©Z

~) d¡ÚH$s` {d_m _Ü ò OmoIr_ ñdrH$maÊ`mMr nÕVr

H$) gd}jH$m§Mr H$V©ì ò

S>) {d_m joÌmMo ImOJrH$aU

àíZ àíZ àíZ àíZ àíZ 3) A) {d_m joÌmVrb {d{dY àH$maMo J«mhH$ H$moUVo AmhoV? [8]
~) {då`mMr OmoIr_ ñdrH$maÊ`mMr {d{dY C{Ôï>o H$moUVr AmhoV? [7]

àíZ àíZ àíZ àíZ àíZ 4) A) {d_m joÌmVrb e¡j{UH$ g§ñWm§Mr ŷ{_H$m gm§Jm. [8]
~) `yHo$ (UK) Am{U ^maVr` {d_m àUmbr_Ü ò \$aH$ am. [7]





Q1) A) Fill in the Blanks  (any Five) : [5]
i) _______is an assessment of the practicality of a proposed project

plan or method.
(Feasibility study, Requirement analysis, Software engineering,
System Development)

ii) ________is a process of collecting and interpreting facts, identifying
the problems, and decomposition of a system into its components.
(RAD, Systems Analysis, Design, V Model)

iii) _______is a software development process for object-oriented
models.
(Waterfall, RUP model, system model, Project development)

iv) _____is a systematic and disciplined approach to software
development that aims to create high-quality, reliable, and
maintainable software.
(software engineering, Prototyping, Concepts, Modelling)

v) System Requirements Specification is a structured collection of
information that embodies the requirements of a_________
(Class, type, project, system)

vi) The____is a classical model used in system development life cycle
to create a system with a linear and sequential approach.
a) waterfall model b) RAD model
c) RUP model d) SpiralModel

Total No. of Questions : 4]
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vii) Mc Call’s factor model classifies all software requirements into____
software quality factors.
a) 5 b) 6
c) 10 d) 11

B) Match the following : [5]
Column - A Column - B

i) System Design a) Prototype is built
ii) Open system b) Process of defining

components
iii) V Model c) Interacts with its environment
iv) Prototyping Model d) Helps in marking complex

decisions
v) Decision Support Systems e) Verification and Validation

Model

Q2) Short Notes (Any 2 out of 4) [10]
a) Characteristics of System
b) Qualities of System Analyst
c) Waterfall Model
d) Feasibility Study and its types

Q3) a) Define System Analysis. Explain in detail the types of system [8]

b) What is Requirement anticipation? Explain the need of requirement
analysis [7]

Q4) a) Explain in detail System Development Life Cycle. [8]

b) Explain Mc Call’s Quality Model. [7]


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Q1) a) Fill in the Blanks : [5]

1) _____ is the maximum possible length of python.

i) 79 characters ii) 33 characters

iii) 24 characters iv) Can be of any length

2) Single line comment is given by _____ character in Python.

i) # ii) //

iii) & iv) %

3) Python language was developed in ______ year.

i) 1989 ii) 1995

iii) 1986 iv) 1999

4) ____ arithmetic operator is used to display remainder.

i) + ii) –

iii) * iv) %

5) Python file has _____ extension.

i) .python ii) .py

iii) .pth iv) .p

SEAT No. :

P.T.O.
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b) State whether the following statement is True or False: [5]

1) Tuple data type in python is denoted by symbol [].

2) 17.25 is the complex value.

3) ** is called as exponential operator.

4) python is open source programming language.

5) /= is called as assignment operator in python.

Q2) Answer the following (Any 4) [20]

1) Write a python program for multiplication of two numbers.

2) Explain five characteristics of python.

3) Explain if ------------ else statement with syntax and example.

4) Write a python program to calculate simple interest.

5) Explain List data type with example.

Q3) Answer the following (Any 2) [20]

1) Explain any four types of operators in python.

2) Explain in detail variables in python.

3) Explain break and continue statements in python with syntax and example.

          
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Q1) a) Fill in the Blanks : [5]

1) Marketing and ______ Are closely related.

a) product knowledge b) Sales Management

c) MBA Degree d) Communication

2) Effective sales planning is the prime responsibility of ______

a) CEO b) Cost Manager

c) Sales Manager d) Marketing manager

3) Most organisations used their sales force to reach ______

a) Customers b) Traders

c) competitors d) sales

4) Following is the not part of sales management.

a) Task Allocation b) Motivation

c) Performance appraisal d) CPM

5) It is basic objectives of sales management.

a) To Capture market b) Advertise

c) communicate d) Finance

SEAT No. :

P.T.O.
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b) Match the pairs : [5]

a)  Process of organisation of sales efforts    1)  Source of recruitment

b)  Advertisement in newspaper                       2)  setting objectives

c)  Sales Planning                                            3)  motivation

d)  Written test                                                4)  sales management

e)  Fair pay packet                                          5)  Selection process

Q2) Write short note on ( any 2) [10]

a) Importance of sales planning

b) External sources of recruitment

c) Methods of motivation to sales persons

d) Challenges before sales manager

Q3) Answer the following ( any 4) [20]

a) Internal Sources of recruitment

b) Scope of Sales Management

c) Sales Control

d) Process of Sales planning

e) Selection of salespersons

f) Methods of sales training

Q4) Answer the following ( any 1) [10]

a) What do you mean by Sales Management? Explain Need and importance
of sales management in current scenario.

b) Write detail note on training and motivation to salespersons.

          
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Q1) A) Choose the correct answer (Any Five) [5]
a) In case of imported goods, transaction value also includes ______.

i) Commission and brokerage
ii) Cost of transportation at the place of importation
iii) Landing charges at the Indian port
iv) Only (ii) & (iii) above

b) Customs duty shall be levied on goods _______.
i) Imported into India by any person other than Government
ii) Exported from India by any person other than Government
iii) Imported into or exported from India by government
iv) All of the above

c) The basic condition for levy of Customs Duty is _______.
i) There must be import or export of goods
ii) There must be import or export of services
iii) There must be import or export of goods or services or both
iv) All of the above

d) In case of imported goods, transaction value also includes _______.
i) 200 nautical miles ii) 20 nautical miles
iii) 100 nautical miles iv) 10 nautical miles

e) As per Customs Act, 1962, Conveyance includes _______.
i) Vessel
ii) Aircraft
iii) Vehicle including railway vehicle
iv) All of the above

f) As per section 14(1) of Customs Act, transaction value means ______.
i) Price paid to the seller of imported goods
ii) Price paid by the buyer of export goods
iii) Both (i) & (ii) above
iv) Price actually paid or payable for goods

P.T.O.
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B) State whether the following statement is TRUE or FALSE [5]
a) Customs station means any customs port, customs airport or land.

b) Coastal goods mean the goods transported in a vessel from one
port in India to another.

c) Export means bringing into India from a place outside India.

d) The Central Government cannot impose Safeguard duty to domestic
industry.

e) Baggage includes unaccompanied baggage but does not include
motor vehicles.

Q2) Write Short Notes (Any Two) [10]

a) Anti-Dumping Duty

b) Features of Custom Duty

c) Constitutional background of customs law.

d) Prohibited Goods

Q3) Answer the following questions (Any Four) [20]

a) What is Transaction Value?

b) How to determine taxable event for import?

c) What is mean by ‘Indian Customs water’?

d) What is ‘foreign-going vessels or aircraft’?

e) What is ‘Person-in-charge’?

f) What is mean by ‘Goods’?

Q4) Answer any One of the following questions [10]
a) What are the provisions for Classification of Goods under Customs?

b) How is Transaction Value determined under different circumstances?





Total No. of Questions : 4]

 [Total No. of Pages : 2

[6315] - 333
T. Y. B. Com.

Voc 356 (A): Computer Applications-II
(CBCS) (2019 Pattern) (Semester - V)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory
2) Figures to the right indicate full marks.

PC-1067

Q1) a) Fill in the blanks : [5]

i) Mechanism that is used to convert domain name into IP address is
known  as _______

a) URL b) DNS

c) FTP d) HTTP

ii) Instagram is an example of_____ type of website.

a) Financial Website b) E-Commerce Website

c) Portfolio Website d) Social media website

iii) Dynamic Web Pages are created using______

a) HTML b) PHP

c) C d) C++

iv) _______ is not an example of web browser.

a) Internet Explorer b) Google Chrome

c) Netscape Navigator d) Alta Vista

v) ___________ is the address of your website that people type in
the browsers URL bar to visit the website.

a) Definition Name b) Internet name

c) Description Name d) Domain Name

SEAT No. :

P.T.O.
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b) Match the following : [5]

i) URL a) Collection of web pages

ii) Web Hosting b) Search Engine

iii) Timeline c) Location address

iv) Website d) Online Service

v) Bing e) Phase in planning website

Q2) Write Short note on (any TWO) : [10]

i) Search Engine

ii) Web Page Layout

iii) Site Structure

Q3) Answer the following (Any FOUR) : [20]

i) Explain the process of website hosting.

ii) Explain interactive and static types of websites.

iii) Explain Domain Name System.

iv) Explain Web site planning for web design.

v) Explain Web Development Process Model.

Q4) Answer the following (Any ONE) : [10]

i) Explain various factors influencing web site design.

ii) What is Web application Architecture? Explain its components.

          



Total No. of Questions : 4]

 [Total No. of Pages : 2

[6315] - 334
T. Y. B.Com. (Vocational)

MARKETING
356(B): Advertising, Sales Promotion & Sales Management-II

(CBCS) (2019 Pattern) (Semester - V) (Paper-VI)
Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1)    All questions are compulsory.

PC-1068

Q1) Fill in the blanks : [5]
1) It is a systematic study of problems related to marketing of goods and

services.

a) product knowledge b) Sales Management

c) Marketing Research d) Basic research

2) Effective marketing research process includes _____

a) Developing Plan b) Cost analysis

c) Sales routine d) Marketing management

3) Cultural values in the country states ______

a) Political environment b) Cultural environment

c) competitors d) Legal policies

4) It is marketing of organisation to develop overall image.

a) Green marketing b) Niche Marketing

c) Blue marketing d) Affiliate Marketing

5) It is basic advantage of digital marketing is _______

a) Lower Cost b) Global reach

c) local market d) district wholesaler

SEAT No. :
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b) Match the Pairs : [5]

a) Digital marketing 1) Promotion of product

b) Green marketing 2) Wide coverage

c) Affiliate marketing 3) Environment Friendly
products

d) Marketing environment 4) Establishing connection
through blogs

e) Promotion manager 5) Economical and political
factors

Q2) Write short note on (any TWO) : [10]

a) Importance of Affiliate marketing

b) Role of Promotional Manager

c) Functions of Product manger

d) Green marketing

Q3) Answer the following (Any FOUR) : [20]

a) Need of marketing research

b) Career opportunities in marketing

c) Role of Market research Manager

d) External Marketing Environment

e) Digital Marketing

f) Techniques of marketing research

Q4) Answer the following (Any ONE) : [10]

a) State and explain objectives and significance of Marketing Research.

b) Write a detail note on recent trends in marketing.

          
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Q1) A) Choose the correct answer (Any Five) [5]
a) An individual who initiates, creates and manages a new business

can be called _____.
i) A leader ii) A professional
iii) A manager iv) An entrepreneur

b) IFCI stands for_______.
i) Indian Finance Corporation and Institution
ii) Industrial Finance Corporation of India
iii) Industrial Funding Corporation of India
iv) Institutional Finance Corporation of India

c) A small-scale entrepreneur is a formal-sector entrepreneur with
_____.
i) Minimum 5 Employees ii) 11 to 49 Employees
iii) 10 to 45 employees iv) More than 50 employees

d) The term “Entrepreneur” has been derived from the word
“enturondre” which means:
i) To take ii) To undertake
iii) To celebrate iv) To decide

e)  ________ is not a source of idea for an entrepreneur.
i) Cost of the project ii) Product profile
iii) Imports and exports iv) Emerging technologies

f) Indian Entrepreneurship Development Institute is located at ______.
i) Mumbai ii) Ahmedabad
iii) Kochi iv) Nashik

g) The government has set up number of ______, to provide financial
assistance to entrepreneurs.
i) Financial Advisors ii) Financial Intermediaries
iii) Industrial Estates iv) Financial Institutions

P.T.O.P.T.O.
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B) State whether the following statement is TRUE or FALSE [5]
a) The entrepreneur introduces something new or can be an imitator.
b) Trading Entrepreneurs are the entrepreneurs who are found in the

field of small trading concerns.
c) Individual Entrepreneurs and Institutional Entrepreneurs are not same.
d) Financial analysis is primarily concerned with the identification and

evaluation of the project resources.
e) Educate, Stimulate and Incubate can be used in helping Student

Start-ups.

Q2) Write short notes (Any Two) [10]
a) Importance of Entrepreneurship
b) Functions of Commercial Banks
c) Functions of DIC
d) PM MUDRA Yojana

Q3) Answer the following questions (Any Four) [20]
a) What do you mean by Entrepreneurial Competencies?
b) What are the functions of Self-help group?
c) Whose called ‘entrepreneur’?
d) What are the functions of a Pollution Control Board?
e) What are the fhnctions of the SIDBI?
f) Explain the Role of Commercial Banks in Entrepreneurship Development.

Q4) Answer Any One of the following questions. [10]
a) Explain the scheme offered by MIDC.
b) Explain the needs & significance of entrepreneurship.


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